OFFICE OF THE EXECUTIVE ENGINEER (M&E) DISTRICT MUNICIPLE CORPORATION SOUTH

No: E.E./DMC/South/ 208/2017

Dated: 31 03 2017

The Director (ENF-I), SPPRA, Government of Sindh, Karachi.

Subject: -

NIT NO. EE/DMC/S/205/ 2017 Dated: 06-03-2017 Open on 27-03-2017

Reference: -

SPPRA Website Sr. No.31980

Enclosed please find herewith following documents of work # 01 to 15 regarding subjected NIT for uploading / hoisting on SPPRA website.

01- Bid Evaluation Report.

02- Minutes of the meeting.

03-Bid Opening Sheet.

04- Comparative Statement.

05- Eligibility / Qualification Report.

06-Contractor's Attendance Sheet

EXECUTIVE ENGINEER (M&E)

DMC (SOUTH)

Enclosed: -

Hard copy & Soft copy

2967

Name of Procuring Agency

Tender Reference No.

Tender Description / Name of work /Item

4 Method of Procurement:

Tender Published SPPRA Website 5

Total Bid documents Sold: 6

Total Bids Received: 7

8 Technical Bid Opening date(if applicable)

No. of Bid technically qualified (if applicable): 9

10 Bids Rejected:

Financial Bid Opening date: 11

Bid Evaluation Report: 12

District Municipal Corporation (South)

NIT No. EE/DMC/S/205/2017 Dated:- 06-03-2017 work at Sr.# (01)

Repair Maintenance & improvement of streetlight system at UC-01

of DMC (South)

Single Stage-One Envelope Procedure

(www.pprasindh.gov.pk) SPPRA Website ID Sr. # 31980

03 Nos.

03 Nos.

Nil

Not Applicable

Not Applicable

27-03-2017

Sr.No.	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
1	M/s. Huzaifa Enterprises.	0.40% Below S/R + Offer Rate, Rs. 921466 + 74200 Total: - 9,95,666/-	l st Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
2	M/s. Al Maqbool Associate.	0.42% Below S/R + Offer Rate, Rs. 921281 + 74625 Total: - 9,95,906/-	2 nd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
3	M/s. New Spectrum Enterprises.	0.39% Below S/R + Offer Rate, Rs. 921559+ 74750 Total: - 9,963,09/-	3 rd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid

M/s. Huzaifa Enterprises. 1st lowest as a successful Bidder

Mr. Shakee Mughal

Member Procurement Committee Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Razaq Juncio

Chairman Procurement Committee

Superintending Engineer

Name of Procuring Agency

2 Tender Reference No.

Tender Description / Name of work /Item

4 Method of Procurement:

5 Tender Published SPPRA Website

6 Total Bid documents Sold:

7 Total Bids Received:

8 Technical Bid Opening date(if applicable)

9 No. of Bid technically qualified (if applicable):

10 Bids Rejected:

11 Financial Bid Opening date:

12 Bid Evaluation Report:

District Municipal Corporation (South)

NIT No. EE/DMC/S/205/2017 Dated:- 06-03-2017 work at Sr.# (02)

Repair Maintenance & improvement of streetlight system at UC-02

of DMC (South)

Single Stage-One Envelope Procedure

(www.pprasindh.gov.pk) SPPRA Website ID Sr. # 31980

03 Nos.

03 Nos.

Not Applicable

Not Applicable

Nil

27-03-2017

Sr.No.	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
1	M/s. Ahmed Electrical Service.	0.30% Below S/R + Offer Rate, Rs. 922967 + 73925 Total: - 9,96,892/-	1 st Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
2	M/s. Al Maqbool Associate.	0.31% Below S/R + Offer Rate, Rs. 9,22,874 + 74625 Total: - 9,97,499/-	2 nd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
3	M/s. S.M. BUILDERS.	0.31% Below S/R + Offer Rate, Rs. 9,22,874+ 74875 Total: - 9,97,749/-	3 rd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid

M/s. Ahmed Electrical Service.. 1st lowest as a successful Bidder

Mr. Shakeel Mughal Member Procurement Committee

Executive Engineer DMC (South) Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junejo

Chairman Procurement Committee Superintending Engineer

Name of Procuring Agency

2 Tender Reference No.

3 Tender Description / Name of work /Item

4 Method of Procurement:

5 Tender Published SPPRA Website

6 Total Bid documents Sold:

7 Total Bids Received:

8 Technical Bid Opening date(if applicable)

9 No. of Bid technically qualified (if applicable):

10 Bids Rejected:

11 Financial Bid Opening date:

12 Bid Evaluation Report:

District Municipal Corporation (South)

NIT No. EE/DMC/S/205/2017 Dated: - 06-03-2017 work at Sr.# (03)

Repair Maintenance & improvement of streetlight system at UC-03

of DMC (South)

Single Stage-One Envelope Procedure

(www.pprasindh.gov.pk) SPPRA Website ID Sr. # 31980

03 Nos.

03 Nos.

Not Applicable

Not Applicable

Nil

27-03-2017

Sr.No.	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
1	M/s. Huzaifa Enterprises.	0.40% Below S/R + Offer Rate, Rs. 921980/- + 74,200/- Total: - 9,96,180/-	1 st Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
2	M/s. S.M. Builders.	0.38% Below S/R + Offer Rate, Rs. 9,22,165 /-+ 74,400/- Total: - 9,96,565/-	2 nd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
3	M/s. Ahmed Electrical Service.	0.40% Below S/R + Offer Rate, Rs. 9,21980/- + 74625/- Total: - 9,966,05/-	3 rd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid

M/s. Huzaifa Enterprises. 1st lowest as a successful Bidder

Mr. Shakee Mughal Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseen Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junejo

Chairman Procurement Committee Superintending Engineer

Name of Procuring Agency

2 Tender Reference No.

Tender Description / Name of work /Item 3.

4 Method of Procurement:

Tender Published SPPRA Website 5

Total Bid documents Sold: 6

7 Total Bids Received:

Technical Bid Opening date(if applicable)

9 No. of Bid technically qualified (if applicable):

10 Bids Rejected:

Financial Bid Opening date: 11

Bid Evaluation Report: 12

District Municipal Corporation (South)

NIT No. EE/DMC/S/205/2017 Dated: - 06-03-2017 work at Sr.# (04)

Repair Maintenance & improvement of streetlight system at UC-04

of DMC (South)

Single Stage-One Envelope Procedure

(www.pprasindh.gov.pk) SPPRA Website ID Sr. # 31980

03 Nos.

03 Nos.

Not Applicable

Not Applicable

Nil

27-03-2017

Sr.No.	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
1	M/s. Huzaifa Enterprises.	0.40% Below S/R + Offer Rate, Rs. 921980/- + 74,200/- Total: - 9,96,180/-	1 st Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
2	M/s. S.M. Builders.	0.38% Below S/R + Offer Rate, Rs. 9,22,165/- + 74,400/- Total: - 9,96,565/-	2 nd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
3	M/s. Waheed & Sons.	0.42% Below S/R + Offer Rate, Rs. 9,21,866/-+ 75350/- Total: - 9,97,216/-	3 rd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid

M/s. Huzaifa Enterprises. 1st lowest as a successful Bidder

Mr. Shakeel Mughal Member Procurement Committee

Executive Angineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Razaq Junei

Chairman Procurement Committee Superintending Engineer

Name of Procuring Agency

2 Tender Reference No.

3 Tender Description / Name of work /Item

4 Method of Procurement:

5 Tender Published SPPRA Website

6 Total Bid documents Sold:

7 Total Bids Received:

8 Technical Bid Opening date(if applicable)

9 No. of Bid technically qualified (if applicable):

10 Bids Rejected:

11 Financial Bid Opening date:

12 Bid Evaluation Report:

District Municipal Corporation (South)

NIT No. EE/DMC/\$/205/2017 Dated:- 06-03-2017 work at Sr.# (05)

Repair Maintenance & improvement of streetlight system at UC-05

of DMC (South)

Single Stage-One Envelope Procedure

(www.pprasindh.gov.pk) SPPRA Website ID Sr. # 31980

03 Nos.

03 Nos.

Not Applicable

voi Applicable

Not Applicable

Nil

27-03-2017

Sr.No.	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
1	M/s. Ahmed Electrical Service.	0.35% Below S/R + Offer Rate, Rs. 921929/- + 73,925/- Total: - 9,95,854/-	1 st Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
2	M/s. Ovais & Bilal Enterprises.	0.36% Below S/R + Offer Rate, Rs. 9,21836/- + 74,125/- Total: - 9,95,961/-	2 nd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
3	M/s. New Spectrum Enterprises.	0.38% Below S/R + Offer Rate, Rs. 9,21651/-+ 74,500/- Total: - 9,96,151/-	3 rd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid

M/s. Ahmed Electrical Service. 1st lowest as a successful Bidder

Mr. Shakeel Mughal Member Procurement Committee

Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junejo

Chairman Procurement Committee Superintending Engineer

Name of Procuring Agency

2 Tender Reference No.

Tender Description / Name of work /Item

4 Method of Procurement:

5 Tender Published SPPRA Website

6 Total Bid documents Sold:

7 Total Bids Received:

8 Technical Bid Opening date(if applicable)

9 No. of Bid technically qualified (if applicable):

10 Bids Rejected:

11 Financial Bid Opening date:

Bid Evaluation Report: 12

District Municipal Corporation (South)

NIT No. EE/DMC/S/205/2017 Dated: - 06-03-2017 work at Sr.# (06)

Repair Maintenance & improvement of streetlight system at UC-06

of DMC (South)

Single Stage-One Envelope Procedure

(www.pprasindh.gov.pk) SPPRA Website ID Sr. # 31980

03 Nos.

03 Nos.

Not Applicable

Not Applicable

Nil

27-03-2017

Sr.No.	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
1	M/s. Waheed & Sons	0.50% Below S/R + Offer Rate, Rs. 9,20,541/- + 74,200/- Total; - 9,94,741/-	1 st Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
2	M/s. Al Maqbool Associate.	0.42% Below S/R + Offer Rate, Rs. 9,21,281/- + 74,550/- Total: - 9,95,831/-	2 nd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
3	M/s. Ahmed Electrical Services.	0.35% Below S/R + Offer Rate, Rs. 9,21929/-+ 74,900/- Total: - 9,96,829/-	3 rd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid

M/s. Waheed & Sons. 1st lowest as a successful Bidder

Mr. Shakee Mughal Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Ahmed Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi

Mr. Abdul Razag Junejo

Chairman Procurement Committee Superintending Engineer

Name of Procuring Agency

2 Tender Reference No.

3 Tender Description / Name of work /Item

4 Method of Procurement:

5 Tender Published SPPRA Website

6 Total Bid documents Sold:

7 Total Bids Received:

8 Technical Bid Opening date(if applicable)

9 No. of Bid technically qualified (if applicable):

10 Bids Rejected:

11 Financial Bid Opening date:

12 Bid Evaluation Report:

District Municipal Corporation (South)

NIT No. EE/DMC/S/205/2017 Dated: - 06-03-2017 work at Sr.# (07)

Repair Maintenance & improvement of streetlight system at UC-07

of DMC (South)

Single Stage-One Envelope Procedure

(www.pprasindh.gov.pk) SPPRA Website ID Sr. # 31980

03 Nos.

03 Nos.

Not Applicable

11

Not Applicable

Nil

27-03-2017

Sr.No.	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
1	M/s. New Spectrum Enterprises.	0.20% Below S/R + Offer Rate, Rs. 9,23,631/- + 75,125/- Total: - 9,98,756/-	1 st Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
2	M/s. Al Maqbool Associate.	0.19% Below S/R + Offer Rate, Rs. 9,23,724/- + 75,625/- Total: - 9,99,349/-	2 nd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
3	M/s. S.M. Builders.	0.20% Below S/R + Offer Rate, Rs. 9,23,631/-+ 76,125/- Total: - 9,99,765/-	3 rd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid

M/s. New Spectrum Enterprises. 1st lowest as a successful Bidder

Mr. Shakeel Mughal Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Ahmed Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Juneios
Chairman Procurement Committee
Superintending Engineer
DMC (South)

Name of Procuring Agency

2 Tender Reference No.

3 Tender Description / Name of work /Item

4 Method of Procurement:

5 Tender Published SPPRA Website

6 Total Bid documents Sold:

7 Total Bids Received:

8 Technical Bid Opening date(if applicable)

9 No. of Bid technically qualified (if applicable):

10 Bids Rejected:

11 Financial Bid Opening date:

12 Bid Evaluation Report:

District Municipal Corporation (South)

NIT No. EE/DMC/S/205/2017 Dated: - 06-03-2017 work at Sr.# (08)

Repair Maintenance & improvement of streetlight system at UC-08

of DMC (South)

Single Stage-One Envelope Procedure

(www.pprasindh.gov.pk) SPPRA Website ID Sr. # 31980

03 Nos.

03 Nos.

Not Applicable

Not Applicable

Nil

27-03-2017

Sr.No.	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
1	M/s. Ovais & Bilal Enterprises.	0.50% Below S/R + Offer Rate, Rs. 9,06,875/- + 89,300/- Total: - 9,96,175/-	1 st Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
2	M/s. New Spectrum Enterprises.	0.35% Below S/R + Offer Rate, Rs. 9,08,242/- + 89,750/- Total: - 9,97,992/-	2 nd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
3	M/s. Waheed & Sons.	0.32% Below S/R + Offer Rate, Rs. 9,08,515/-+ 90,050/- Total: - 9,98,565/-	3 rd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid

M/s Ovias & Bilal Enterprises. 1st lowest as a successful Bidder

Mr. Shakeel Mughal Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Razaq Junejo Chairman Procurement Committee Superintending Engineer

Name of Procuring Agency

2 Tender Reference No.

3 Tender Description / Name of work /Item

4 Method of Procurement:

5 Tender Published SPPRA Website

6 Total Bid documents Sold:

7 Total Bids Received:

8 Technical Bid Opening date(if applicable)

9 No. of Bid technically qualified (if applicable):

10 Bids Rejected:

11 Financial Bid Opening date:

12 Bid Evaluation Report:

District Municipal Corporation (South)

NIT No. EE/DMC/S/205/2017 Dated: - 06-03-2017 work at Sr.# (09)

Repair Maintenance & improvement of streetlight system at UC-09

of DMC (South)

Single Stage-One Envelope Procedure

(www.pprasindh.gov.pk) SPPRA Website ID Sr. # 31980

03 Nos.

03 Nos.

Not Applicable

Not Applicable

Nil

27-03-2017

Sr.No.	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
1	M/s. Waheed & Sons.	0.40% Below S/R + Offer Rate, Rs. 9,21,466/- + 74,200/- Total: - 9,95,666/-	1 st Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
2	M/s Ovias & Bilal Enterprises.	0.35% Below S/R + Offer Rate, Rs. 9,21,929/- + 74,450/- Total: - 9,96,379/-	2 nd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
3	M/s. S.M. Builder.	0.30% Below S/R + Offer Rate, Rs. 9,22,391/-+ 74,900/- Total: - 9,97,291/-	3 rd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid

M/s Waheed & Sons. 1st lowest as a successful Bidder

Mr. Shakeel Mughal

Member Procurement Committee Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Razaq Junejo

Chairman Procurement Committee

Superintending Engineer

Name of Procuring Agency

2 Tender Reference No.

3 Tender Description / Name of work /Item

4 Method of Procurement:

5 Tender Published SPPRA Website

6 Total Bid documents Sold:

7 Total Bids Received:

8 Technical Bid Opening date(if applicable)

9 No. of Bid technically qualified (if applicable):

10 Bids Rejected:

11 Financial Bid Opening date:

12 Bid Evaluation Report:

District Municipal Corporation (South)

NIT No. EE/DMC/S/205/2017 Dated: - 06-03-2017 work at Sr.# (10)

Repair Maintenance & improvement of streetlight system at UC-10

of DMC (South)

Single Stage-One Envelope Procedure

(www.pprasindh.gov.pk) SPPRA Website ID Sr. # 31980

03 Nos.

03 Nos.

Not Applicable

Not Applicable

Nil

27-03-2017

Sr.No.	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
1	M/s Ovias & Bilal Enterprises.	0.50% Below S/R + Offer Rate, Rs. 9,20,541/- + 74,200/- Total: - 9,94,741/-	1 st Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
2	M/s Ahmed Electrical Services.	0.42% Below S/R + Offer Rate, Rs. 9,21,281/- + 74,350/- Total: - 9,95,631/-	2 nd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
3	M/s. Al Maqbool Associate.	0.35% Below S/R + Offer Rate, Rs. 9,21,929/-+ 74,975/- Total: - 9,96,904/-	3 rd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid

M/s Ovais & Bilal Enterprises. 1st lowest as a successful Bidder

Mr. Shakeel Mughal

Member Procurement Committee Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junejo

Chairman Procurement Copinititee

Superintending Engineer DMC (South)

Name of Procuring Agency

2 Tender Reference No.

3 Tender Description / Name of work /Item

4 Method of Procurement:

5 Tender Published SPPRA Website

6 Total Bid documents Sold:

7 Total Bids Received:

8 Technical Bid Opening date(if applicable)

9 No. of Bid technically qualified (if applicable):

10 Bids Rejected:

11 Financial Bid Opening date:

12 Bid Evaluation Report:

District Municipal Corporation (South)

NIT No. EE/DMC/S/205/2017 Dated: - 06-03-2017 work at Sr.# (11)

Repair Maintenance & improvement of streetlight system at UC-11

of DMC (South)

Single Stage-One Envelope Procedure

(www.pprasindh.gov.pk) SPPRA Website ID Sr. # 31980

03 Nos.

03 Nos.

Not Applicable

Not Applicable

Nil

27-03-2017

Sr.No.	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
1	M/s Huzaifa Enterprises.	0.50% Below S/R + Offer Rate, Rs. 9,06,77/- + 89,040/- Total: - 9.95,117/-	1 st Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
2	M/s New Spectrum Enterpises.	0.48% Below S/R + Offer Rate, Rs. 9,06,259/- + 90,750/- Total: - 9,97,009/-	2 nd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
3	M/s Ovais & Bilal Enterprises.	0.40% Below S/R + Offer Rate, Rs. 9,06,987/-+ 93,000/- Total: - 9,99,987/-	3 rd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid

M/s Huzaifa Enterprises. 1st lowest as a successful Bidder

Mr. Shakeel Mughal Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Ahmed Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junejo

Chairman Procurement Committee Superintending Engineer DMC (South)

Name of Procuring Agency

2 Tender Reference No.

Tender Description / Name of work /Item

4 Method of Procurement:

5 Tender Published SPPRA Website

Total Bid documents Sold: 6

Total Bids Received: 7

Technical Bid Opening date(if applicable) 8

9 No. of Bid technically qualified (if applicable):

10 Bids Rejected:

Financial Bid Opening date: 11

12 Bid Evaluation Report: District Municipal Corporation (South)

NIT No. EE/DMC/S/205/2017 Dated:- 06-03-2017 work at Sr.# (12)

Repair Maintenance & improvement of streetlight system at UC-12

of DMC (South)

Single Stage-One Envelope Procedure

(www.pprasindh.gov.pk) SPPRA Website ID Sr. # 31980

03 Nos.

03 Nos.

Not Applicable

Not Applicable

Nil

27-03-2017

Sr.No.	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
1	M/s Ahmed Electrical Services.	0.32% Below S/R + Offer Rate, Rs. 9,22,460/- + 73,925/- Total: - 9,96,385/-	1 st Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
2	M/s S.M. Builders.	0.34% Below S/R + Offer Rate, Rs. 9,22,273/- + 74,275/- Total: - 9,96,548/-	2 nd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
3	M/s Al Maqbool Associate.	0.35% Below S/R + Offer Rate, Rs. 9,22,182/-+ 74,625/- Total: - 9,96,807/-	3 rd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid

M/s Ahmed Electrical Services. 1st lowest as a successful Bidder

Mr. Shakeel Mughal Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Razaq Junejo

Chairman Procurement Committee

Superintending Engineer DMC (South)

Name of Procuring Agency

2 Tender Reference No.

Tender Description / Name of work /Item

4

Method of Procurement:

5 Tender Published SPPRA Website

Total Bid documents Sold: 6

Total Bids Received:

8 Technical Bid Opening date(if applicable)

9 No. of Bid technically qualified (if applicable):

10 Bids Rejected:

Financial Bid Opening date: 11

Bid Evaluation Report: 12

District Municipal Corporation (South)

NIT No. EE/DMC/S/205/2017 Dated: - 06-03-2017 work at Sr.# (13)

Repair Maintenance & improvement of streetlight system at UC-13

of DMC (South)

Single Stage-One Envelope Procedure

(www.pprasindh.gov.pk) SPPRA Website ID Sr. # 31980

03 Nos.

03 Nos.

Not Applicable

Not Applicable

Nil

27-03-2017

Sr.No.	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
1	M/s Waheed & Sons.	0.51% Below S/R + Offer Rate, Rs. 9,20,541/- + 74,500/- Total: - 9,95,041/-	1 st Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
2	M/s Huzaifa Enterprises.	0.42% Below S/R + Offer Rate, Rs. 9,21,281/- + 74,750/- Total: - 9,96,031/-	2 nd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
3	M/s New Spectrum Enterprises.	0.35% Below S/R + Offer Rate, Rs. 9,21,929/-+ 75,100/- Total: - 9,97,029/-	3 rd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid

M/s Waheed & Sons. 1st lowest as a successful Bidder

Mr. Shakeel Mughal Member Procurement Committee Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Razaq Junejo

Chairman Procurement Committee Superintending Engineer

Name of Procuring Agency

2 Tender Reference No.

Tender Description / Name of work /Item

4 Method of Procurement:

5

Tender Published SPPRA Website

6

Total Bid documents Sold:

7 Total Bids Received:

8

Technical Bid Opening date(if applicable) No. of Bid technically qualified (if applicable):

9

10 Bids Rejected:

Financial Bid Opening date: 11

12

Bid Evaluation Report:

District Municipal Corporation (South)

NIT No. EE/DMC/S/205/2017 Dated:- 06-03-2017 work at Sr.# (14)

Repair Maintenance & improvement of streetlight system at UC-14

of DMC (South)

Single Stage-One Envelope Procedure

(www.pprasindh.gov.pk) SPPRA Website ID Sr. # 31980

03 Nos.

03 Nos.

Not Applicable

Not Applicable

Nil

27-03-2017

Sr.No.	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
1	M/s Ovais & Bilal Enterprises.	0.55% Below S/R + Offer Rate, Rs. 9,03,205/- + 92,992/- Total: - 9,96,197/-	1 st Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
2	M/s Waheed & Sons.	0.48% Below S/R + Offer Rate, Rs. 9,03,841/- + 93,290/- Total: - 9,97,131/-	2 nd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
3	M/s S.M. Builders.	0.42% Below S/R + Offer Rate, Rs. 9,04,386/-+ 93,790/- Total: - 9,98,176/-	3 rd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid

M/s Owais & Bilal Enterprises. 1st lowest as a successful Bidder

Mr. Shakeel Mughal

Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Razaq Junejo

Chairman Procurement Committee

Superintending Engineer DMC (South)

Name of Procuring Agency

Tender Reference No. 2

Tender Description / Name of work /Item

4 Method of Procurement:

5 Tender Published SPPRA Website

6 Total Bid documents Sold:

7 Total Bids Received:

Technical Bid Opening date(if applicable) 8

9 No. of Bid technically qualified (if applicable):

10 Bids Rejected:

11 Financial Bid Opening date:

12 Bid Evaluation Report: District Municipal Corporation (South)

NIT No. EE/DMC/S/205/2017 Dated: - 06-03-2017 work at Sr.# (15)

Repair Maintenance & improvement of streetlight system at UC-15

of DMC (South)

Single Stage-One Envelope Procedure

(www.pprasindh.gov.pk) SPPRA Website ID Sr. # 31980

03 Nos.

03 Nos.

Not Applicable

Not Applicable

27-03-2017

Sr.No.	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
1	M/s Waheed & Sons.	0.30% Below S/R + Offer Rate, Rs. 8,88,631/- + 10,8800/- Total: - 9,97,431/-	1 st Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
2	M/s Ahmed Electrical Service.	0.35% Below S/R + Offer Rate, Rs. 8,88,185/- + 10,9435/- Total: - 9,97,620/-	2 nd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid
3	M/s S.M. Builders.	0.38% Below S/R + Offer Rate, Rs. 8,87,918/-+ 10,9960/- Total: - 9,97,878/-	3 rd Lowest	Rs. 10,00,000/-	Bid accepted due to lowest & in order.	Bidding process valid

M/s Waheed & Sons. 1st lowest as a successful Bidder

Mr. Shakeel Mughal Member Procurement Committee

Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Razaq Junejes Chairman Procurement Committee

Superintending Engineer

OFFICE OF THE SUPERINTENDING ENGINEER / CHAIRMAN PROCUREMENT COMMITTEE DMC SOUTH KARACHI

MINUTES OF THE MEETING OF PROCUREMENT COMMITTEE, DMC SOUTH KARACHI REGARDING OPENING OF THE TENDER / BIDS PERAINING TO DISTRICT SOUTH.

AGENDA

Opening of the tender / bids vide NIT NO. EE/DMC/S/205/2017 DATED: - 06-03-2017 Which opened on 20-03-2017.

A meeting of Procurement Committee, DMC South Karachi held on 27-03-2017 at the office of Superintending Engineer, DMC (South) situated at KRS Captain Road Karachi, regarding opening of the aforesaid Tender / bids vide NIT NO. EE/DMC/S/205/2017 Dated: - 06-03-2017. The following participates attended the meeting.

01- Superintending Engineer DMC (South)

02- Executive Engineer DMC (South)

03- Asstt: Executive Engineer, District Council Karachi.

Chairman

Member

Member

PROCEEDING

Opening commenced in the name of ALLAH, after that Procurement Committee, of DMC South Karachi, initiated proceeding in Presence of bidders.

- The seal of tender box removed and all tenders / bids have been counted in the presence of the contractors on 27-03-2017 at 02:30pm.
- ii. The Procurement Committee opened the tenders one by one and announced the relevant details i.e., the name of work, name of bidder, total amount of each bid offered / quoted by the contractor etc and all members of procurement committee signed each and every page of financial proposal and amount of call deposit / pay order of earnest money after that all members of procurement committee signed the bid opening sheet after completing the bidding process (Bid opening sheet placed below)
- iii. All contractors / bidders have signed on the attendance sheet (Copy placed below).
- iv. The committee examines all the bids as per qualification eligibility criteria provided in the bidding documents, the documents checked arithmetically one by one and bid security in shape of Pay Orders submitted by the bidders was found in order.

The meeting/ended with the vote of thanks to from the chair.

SHAKEEL MUGHAL
Member Procurement Committee
EXECUTIVE ENGINEER

DMC (SOUTH)

WASEEM AHMED

Member Procurement Committee

ASSTT: EXECUTIVE ENGINEER

DISTRICT COUNCIL, KARACHI

Abdul RAZAQ JONEJO

Chairman Procurement Committee SUPERINTENDING ENGINEER

DMC (SOUTH).

The procurement committee for District Municipal Corporation (South), Karachi have been opened the tenders vide above NIT on 27-03-2017 at 02:30 pm in the office of the Superintending Engineer, DMC (South), at situated office, KRS Captain road, near Haqani Chowk, Karachi, in the presence of all bidders, detail work/item wise given as under:-

	WORK NO. 01			Repair Maintenance & improvement of streetlight system at UC-01 of DMC (South)						
Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks			
1.	M/s. Huzaifa Enterprises.	0.40% Below S/R + Offer Rate, Rs. 921466 + 74200 Total: - 9,95,666/-	1 st	PO # 1003958 Rs: 20,000/-	ISLAMI BANK	No Over Writing / Cutting	Bidding process valid			
2.	M/s. Al Maqbool Associate.	0.42% Below S/R + Offer Rate, Rs. 921281 + 74625 Total: - 9,95,906/-	2 nd	PO # 0047416 Rs: 20,000/-	SINDH BANK	No Over Writing / Cutting	Bidding process valid			
3.	M/s. New Spectrum Enterprises.	0.39% Below S/R + Offer Rate, Rs. 921559+ 74750 Total: - 9,963,09/-	3 rd	PO # 05961408 Rs: 20,000/-	UBL BANK	No Over Writing / Cutting	Bidding process valid			

	WORK NO. 02			Repair Maintenance & improvement of streetlight system at UC-02 of DMC (South)						
Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks			
1.	M/s. Ahmed Electrical Sercice.	0.30% Below S/R + Offer Rate, Rs. 922967 + 73925 Total: - 9,96,892/-	1 st	PO # 03053462 Rs: 20,000/-	AL HABIB BANK	No Over Writing / Cutting	Bidding process valid			
2.	M/s. Al Maqbool Associate.	0.31% Below S/R + Offer Rate, Rs. 9,22,874 + 74625 Total: - 9,97,499/-	2 nd	PO # 13236984 Rs: 20,000/-	UBL BANK	No Over Writing / Cutting	Bidding process valid			
3.	M/s. S.M. BUILDERS.	0.31% Below S/R + Offer Rate, Rs. 9,22,874+ 74875 Total: - 9,97,749/-	3 rd	PO # 23001033 Rs: 20,000/-	ASKARI BANK	No Over Writing / Cutting	Bidding process valid			

Mr. Shakeel Mughal
Member Procurement Committee
Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Razaq Junejo
Chairman Procurement Committee
Superintending Engineer
DMC (South)

The procurement committee for District Municipal Corporation (South), Karachi have been opened the tenders vide above NIT on 27-03-2017 at 02:30 pm in the office of the Superintending Engineer, DMC (South), at situated office, KRS Captain road, near Haqani Chowk, Karachi, in the presence of all bidders, detail work/item wise given as under:-

	WOR	K NO. 03	Repair Maintenance & improvement of streetlight system at UC-03 of DMC (South)					
Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks	
1.	M/s. Huzaifa Enterprises.	0.40% Below S/R + Offer Rate, Rs. 921980/- + 74,200/- Total: - 9,96,180/-	1 st	PO # 13237004 Rs: 20,000/-	UBL BANK	No Over Writing / Cutting	Bidding process valid	
2.	M/s. S.M. Builders.	0.38% Below S/R + Offer Rate, Rs. 9,22,165 /-+ 74,400/- Total: - 9,96,565/-	2 nd	PO # 00473415 Rs: 20,000/-	SINDH BANK	No Over Writing / Cutting	Bidding process valid	
3.	M/s. Ahmed Electrical Service.	0.40% Below S/R + Offer Rate, Rs. 9,21980/- + 74625/- Total: - 9,966,05/-	3 rd	PO # 01797168 Rs: 20,000/-	SONERI BANK	No Over Writing / Cutting	Bidding process valid	

	WOR	K NO. 04	Repair Maintenance & improvement of streetlight system at UC-04 of DMC (South)						
Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks		
1.	M/s. Huzaifa Enterprises.	0.40% Below S/R + Offer Rate, Rs. 921980/- + 74,200/- Total: - 9,96,180/-	1 st	PO # 1003959 Rs: 20,000/-	ISLAMIC BANK	No Over Writing / Cutting	Bidding process valid		
2.	M/s. S.M. Builders.	0.38% Below S/R + Offer Rate, Rs. 9,22,165/- + 74,400/- Total: - 9,96,565/-	2 nd	PO # 13090695 Rs: 20,000/-	HBL BANK	No Over Writing / Cutting	Bidding process valid		
3.	M/s. Waheed & Sons.	0.42% Below S/R + Offer Rate, Rs. 9,21,866/-+ 75350/- Total: - 9,97,216/-	3 rd	PO # 330713 Rs: 20,000/-	ASKARI BANK	No Over Writing / Cutting	Bidding process valid		

Mr. Shakeel Mughal
Member Procurement Committee
Executive Engineer

Executive Engineer DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Razaq Junejo
Chairman Procurement Committee
Superintending Engineer
DMC (South)

The procurement committee for District Municipal Corporation (South), Karachi have been opened the tenders vide above NIT on 27-03-2017 at 02:30 pm in the office of the Superintending Engineer, DMC (South), at situated office, KRS Captain road, near Haqani Chowk, Karachi, in the presence of all bidders, detail work/item wise given as under:-

	WORK NO. 05			Repair Maintenance & improvement of streetlight system at UC-05 of DMC (South)						
Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks			
1.	M/s. Ahmed Electrical Service.	0.35% Below S/R + Offer Rate, Rs. 921929/- + 73,925/- Total: - 9,95,854/-	1 st	PO # 13236985 Rs: 20,000/-	HBL BANK	No Over Writing / Cutting	Bidding process valid			
2.	M/s. Ovais & Bilal Enterprises.	0.36% Below S/R + Offer Rate, Rs. 9,21836/- + 74,125/- Total: - 9,95,961/-	2 nd	PO # 03053461 Rs: 20,000/-	AL HABIB BANK	No Over Writing / Cutting	Bidding process valid			
3.	M/s. New Spectrum Enterprises.	0.38% Below S/R + Offer Rate, Rs. 9,21651/-+ 74,500/- Total: - 9,96,151/-	3 rd	PO # 00151649 Rs: 20,000/-	AL FALAH BANK	No Over Writing / Cutting	Bidding process valid			

	WORK NO. 06			Repair Maintenance & improvement of streetlight system at UC-06 of DMC (South)						
Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks			
1.	M/s. Waheed & Sons	0.50% Below S/R + Offer Rate, Rs. 9,20,541/- + 74,200/- Total: - 9,94,741/-	1 st	PO # 15642536 Rs: 20,000/-	HBL BANK	No Over Writing / Cutting	Bidding process valid			
2.	M/s. Al Maqbool Associate.	0.42% Below S/R + Offer Rate, Rs. 9,21,281/- + 74,550/- Total: - 9,95,831/-	2 nd	PO # 15642542 Rs: 20,000/-	HBL BANK	No Over Writing / Cutting	Bidding process valid			
3.	M/s. Ahmed Electrical Services.	0.35% Below S/R + Offer Rate, Rs. 9,21929/-+ 74,900/- Total: - 9,96,829/-	3 rd	PO # 15643645 Rs: 20,000/-	HBL BANK	No Over Writing / Cutting	Bidding process valid			

Member Procurement Committee
Executive Engineer

DMC (South)

Mr. Waseem Ahmed
Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junejo Chairman Procurement Committee Superintending Engineer DMC (South)

The procurement committee for District Municipal Corporation (South), Karachi have been opened the tenders vide above NIT on 27-03-2017 at 02:30 pm in the office of the Superintending Engineer, DMC (South), at situated office, KRS Captain road, near Haqani Chowk, Karachi, in the presence of all bidders, detail work/item wise given as under:-

	WORK NO. 07			Repair Maintenance & improvement of streetlight system at UC-07 of DMC (South)					
Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks		
1.	M/s. New Spectrum Enterprises.	0.20% Below S/R + Offer Rate, Rs. 9,23,631/- + 75,125/- Total: - 9,98,756/-	1 st	PO # 15750380 Rs: 20,000/-	HBL BANK	No Over Writing / Cutting	Bidding process valid		
2.	M/s. Al Maqbool Associate.	0.19% Below S/R + Offer Rate, Rs. 9,23,724/- + 75,625/- Total: - 9,99,349/-	2 nd	PO # 33236982 Rs: 20,000/-	UBL BANK	No Over Writing / Cutting	Bidding process valid		
3.	M/s. S.M. Builders.	0.20% Below S/R + Offer Rate, Rs. 9,23,631/-+ 76,125/- Total: - 9,99,765/-	3 rd	PO # 03114919 Rs: 20,000/-	MEEZAN BANK	No Over Writing / Cutting	Bidding process valid		

	WORK NO. 08			Repair Maintenance & improvement of streetlight system at UC-08 of DMC (South)						
Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks			
1.	M/s. Ovais & Bilal Enterprises.	0.50% Below S/R + Offer Rate, Rs. 9,06,875/- + 89,300/- Total: - 9,96,175/-	1 st	PO # 13236986 Rs: 20,000/-	UBL BANK	No Over Writing / Cutting	Bidding process valid			
2.	M/s. New Spectrum Enterprises.	0.35% Below S/R + Offer Rate, Rs. 9,08,242/- + 89,750/- Total: - 9,97,992/-	2 nd	PO # 02618237 Rs: 20,000/-	AL HABIB BANK	No Over Writing / Cutting	Bidding process valid			
3.	M/s. Waheed & Sons.	0.32% Below S/R + Offer Rate, Rs. 9,08,515/-+ 90,050/- Total: - 9,98,565/-	3 rd	PO # 23001032 Rs: 20,000/-	ASKARI BANK	No Over Writing / Cutting	Bidding process valid			

Mr. Shakeel Mughal
Member Procurement Committee
Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee
Asstt: Executive Engineer,

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junejo de Chairman Procurement Committee Superintending Engineer DMC (South)

The procurement committee for District Municipal Corporation (South), Karachi have been opened the tenders vide above NIT on 27-03-2017 at 02:30 pm in the office of the Superintending Engineer, DMC (South), at situated office, KRS Captain road, near Haqani Chowk, Karachi, in the presence of all bidders, detail work/item wise given as under:-

	WORK NO. 09			Repair Maintenance & improvement of streetlight system at UC-09 of DMC (South)						
Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks			
1.	M/s. Waheed & Sons.	0.40% Below S/R + Offer Rate, Rs. 9,21,466/- + 74,200/- Total: - 9,95,666/-	1 st	PO # 03323351 Rs: 20,000/-	AL HABIB BANK	No Over Writing / Cutting	Bidding process valid			
2.	M/s Ovias & Bilal Enterprises.	0.35% Below S/R + Offer Rate, Rs. 9,21,929/- + 74,450/- Total: - 9,96,379/-	2 nd	PO # 13236987 Rs: 20,000/-	UBL BANK	No Over Writing / Cutting	Bidding process valid			
3.	M/s. S.M. Builder.	0.30% Below S/R + Offer Rate, Rs. 9,22,391/-+ 74,900/- Total: - 9,97,291/-	3 rd	PO # 13236895 Rs: 20,000/-	UBL BANK	No Over Writing / Cutting	Bidding process valid			

	WOR	K NO. 10	Repair Ma (South)	aintenance & improv	ement of street	ight system at UC	-10 of DMC
Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s Ovias & Bilal Enterprises.	0.50% Below S/R + Offer Rate, Rs. 9,20,541/- + 74,200/- Total: - 9,94,741/-	1 st	PO # 4114207 Rs: 20,000/-	S.C. BANK	No Over Writing / Cutting	Bidding process valid
2.	M/s Ahmed Electrical Services.	0.42% Below S/R + Offer Rate, Rs. 9,21,281/- + 74,350/- Total: - 9,95,631/-	2 nd	PO # 1003951 Rs: 20,000/-	ISLAMIC BANK	No Over Writing / Cutting	Bidding process valid
3.	M/s. Al Maqbool Associate.	0.35% Below S/R + Offer Rate, Rs. 9,21,929/-+ 74,975/- Total: - 9,96,904/-	3 rd	PO # 4114208 Rs: 20,000/-	S.C. BANK	No Over Writing / Cutting	Bidding process valid

Mr. Waseem Ahmed

Member Procurement Committee

Mr. Shakel Maghal

Member Procurement Committee

Executive Engineer

Executive Engineer Asstt: Executive Engineer,
DMC (South) District Council, Karachi

Mr. Abdul Razaq Junejo

Superintending Engineer DMC (South)

The procurement committee for District Municipal Corporation (South), Karachi have been opened the tenders vide above NIT on 27-03-2017 at 02:30 pm in office of the Superintending Engineer, DMC (South), at situated office, KRS Captain road, near Haqani Chowk, Karachi, in the presence of all bidders, deckil work/item wise given as under:-

	WOR	K NO. 11	Repair M (South)								
Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks				
1.	M/s Huzaifa Enterprises.	0.50% Below S/R + Offer Rate, Rs. 9,06,77/- + 89,040/- Total: - 9,95,117/-	1 st	PO # 13236990 Rs: 20,000/-	UBL BANK	No Over Writing / Cutting	Bidding process valid				
2.	M/s New Spectrum Enterpises.	0.48% Below S/R + Offer Rate, Rs. 9,06,259/- + 90,750/- Total: - 9,97,009/-	2 nd	PO # 05961405 Rs: 20,000/-	UBL BANK	No Over Writing / Cutting	Bidding process valid				
3.	M/s Ovais & Bilal Enterprises.	0.40% Below S/R + Offer Rate, Rs. 9,06,987/-+ 93,000/- Total: - 9,99,987/-	3rd	PO # 1003954 Rs: 20,000/-	ISLAMIC BANK	No Over Writing / Cutting	Bidding process valid				

	WOR	K NO. 12	Repair Ma (South)	aintenance & improv	ement of street	ight system at UC	-12 of DMC
Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s Ahmed Electrical Services.	0.32% Below S/R + Offer Rate, Rs. 9,22,460/- + 73,925/- Total: - 9,96,385/-	1 st	PO # 13236989 Rs: 20,000/-	UBL BANK	No Over Writing / Cutting	Bidding process valid
2.	M/s S.M. Builders.	0.34% Below S/R + Offer Rate, Rs. 9,22,273/- + 74,275/- Total: - 9,96,548/-	2 nd	PO # 03323353 Rs: 20,000/-	AL HABIB BANK	No Over Writing / Cutting	Bidding process valid
3.	M/s Al Maqbool Associate.	0.35% Below S/R + Offer Rate, Rs. 9,22,182/-+ 74,625/- Total: - 9,96,807/-	3 rd	PO # 00151650 Rs: 20,000/-	AL FALAH BANK	No Over Writing / Cutting	Bidding process valid

Mr. Shakeel Mughal Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Ahmed
Member Procurement Committee
Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Razaq Juneto Chairman Procurement Committee Superintending Engineer

The procurement committee for District Municipal Corporation (South), Karachi have been opened the tenders vide above NIT on 27-03-2017 at 02:30 pm in the office of the Superintending Engineer, DMC (South), at situated office, KRS Captain road, near Haqani Chowk, Karachi, in the presence of all bidders, detail work/item wise given as under:-

	WOR	K NO. 13	Repair M (South)	aintenance & improv	vement of street	ight system at UC	-13 of DMC
Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s Waheed & Sons.	0.51% Below S/R + Offer Rate, Rs. 9,20,541/- + 74,500/- Total: - 9,95,041/-	1 st	PO # 15642534 Rs: 20,000/-	HBL BANK	No Over Writing / Cutting	Bidding process valid
2.	M/s Huzaifa Enterprises.	0.42% Below S/R + Offer Rate, Rs. 9,21,281/- + 74,750/- Total: - 9,96,031/-	2 nd	PO # 15642537 Rs: 20,000/-	HBL BANK	No Over Writing / Cutting	Bidding process valid
3.	M/s New Spectrum Enterprises.	0.35% Below S/R + Offer Rate, Rs. 9,21,929/-+ 75,100/- Total: - 9,97,029/-	3 rd	PO # 15642530 Rs: 20,000/-	HBL BANK	No Over Writing / Cutting	Bidding process valid

	WOR	K NO. 14	Repair Ma (South)	aintenance & improv	ement of street	ight system at UC	-14 of DMC
Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s Ovais & Bilal Enterprises.	0.55% Below S/R + Offer Rate, Rs. 9,03,205/- + 92,992/- Total: - 9,96,197/-	1 st	PO # 15750381 Rs: 20,000/-	HBL BANK	No Over Writing / Cutting	Bidding process valid
2.	M/s Waheed & Sons.	0.48% Below S/R + Offer Rate, Rs. 9,03,841/- + 93,290/- Total: - 9,97,131/-	2 nd	PO # 13236983 Rs: 20,000/-	UBL BANK	No Over Writing / Cutting	Bidding process valid
3.	M/s S.M. Builders.	0.42% Below S/R + Offer Rate, Rs. 9,04,386/-+ 93,790/- Total: - 9,98,176/-	3 rd	PO # 03114918 Rs: 20,000/-	MEEZAN BANK	No Over Writing / Cutting	Bidding process valid

Mr. Shakee Mughal

Member Procurement Committee

Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Razaq Juneje Chairman Procurement Committee Superintending Engineer DMC (South)

The procurement committee for District Municipal Corporation (South), Karachi have been opened the tenders vide above NIT on 27-03-2017 at 02:30 pm in the office of the Superintending Engineer, DMC (South), at situated office, KRS Captain road, near Hagani Chowk, Karachi, in the presence of all bidders, detail work/item wise given as under:-

	WOR	K NO. 15	Repair Ma (South)	aintenance & improv	ement of street	ight system at UC	-15 of DMC
Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s Waheed & Sons.	0.30% Below S/R + Offer Rate, Rs. 8,88,631/- + 10,8800/- Total: - 9,97,431/-	1 st	PO # 1564253 Rs: 20,000/-	HBL BANK	No Over Writing / Cutting	Bidding process valid
2.	M/s Ahmed Electrical Service.	0.35% Below S/R + Offer Rate, Rs. 8,88,185/- + 10,9435/- Total: - 9,97,620/-	2 nd	PO # 15642535 Rs: 20,000/-	HBL BANK	No Over Writing / Cutting	Bidding process valid
3.	M/s S.M. Builders.	0.38% Below S/R + Offer Rate, Rs. 8,87,918/-+ 10,9960/- Total: - 9,97,878/-	3 rd	PO # 15642532 Rs: 20,000/-	HBL BANK	No Over Writing / Cutting	Bidding process valid

Mr. Shakeel Mughal

Member Procurement Committee

Executive Engineer

DMC (South)

Mr. Waseem-Ahmed

Member Procurement Committee

Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Razaq Junej

Chairman Procurement Committee

Superintending Engineer

PROCUREMENT COMMITTEE DISTRICT MUNICIPLE CORPORATION SOUTH, KARACHI

CMOPARATIVE STATEMENT

Name of Work: - Repair Maintenance & improvement of streetlight system at UC-01 of DMC (South)

SR.#	DESCRIPTION		ENGIN	EER ESTIMA	TE	M/s. Huzait Enterprises		M/s. Al Maqbool Associate.		M/s. New Spectrum Enterprises.	
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029 (E/W Page 6 Item 43)	900	P/Mtr	69.00	62,100	69.00	62,100	69.00	62,100	69.00	62,100
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029 (E/W Page 6 Item 45)	720	P/Mtr	147.00	105,840	147.00	105,840	147.00	105,840	147.00	105,840
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size (2-7/.036) 4mm2 (E/W Page 6 Item 46)	450	P/Mtr	118.00	53,100	118.00	53,100	118.00	53,100	118.00	53,100
4	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement & instruction of El. (E/W Page 27 Item 175)	90	Each	2105.00	189,450	2105.00	189,450	2105.00	189,450	2105.00	189,450
5	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El. (E/W Page 27 Item 176)	70	Each	3990.00	279,300	3990.00	279,300	3990.00	279,300	3990.00	279,300
6	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of El. (E/W Page 28 Item 178)	84	Each	1119.00	93,996	1119.00	93,996	1119.00	93,996	1119.00	93,996
7	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El. (E/W Page 26 Item 190)	15	Each	423.00	6345	423.00	6345	423.00	6345	423.00	6345
8	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El. (E/W Page 29 Item 188)	23	Each	662.00	15,226	662.00	15,226	662.00	15,226	662.00	15,226

CONTINUE PAGE #02

9	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI. (E/W Page 45 Item 161)	10	Each	10105.00	101,050	10105.00	101,050	10105.00	101,050	10105.00	101,050
10	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts (E/W Page 21 Item 145)	10	Each	1876.00	18,760	1876.00	18,760	1876.00	18,760	1876.00	18,760
		To	tal of Sch	edule Items	925167		925167		925167		925167
						0.40% Below	3701	0.42% Below	29610	0.39% Below	3608
							921466		921281		921559
	NON SCHEDULE ITEMS.										
11	P/F moon light body best quality as req.	50	Each	Offer Rate		406	20300	410	20500	410	20500
12	P/F energy saver 45-watts best quality as req.	25	Each	Offer Rate		770	19250	770	19250	775	19375
13	P/F energy saver 85-watts best quality as req.	25	Each	Offer Rate		1050	26250	1055	26375	1055	26375
14	P/F one way switch 20amp. best quality as req.	100	Each	Offer Rate		84	8400	85	8500	85	8500
	TOTAL OF	NON S	SCHEDU	LE ITEMS.			74200		74625		74750
						Total Amount of 1 st Bidder	995666	Total Amount of 2 nd Bidder	995906	Total Amount of 3 rd Bidder	996309

Mr. Shakeel Mughal

Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Kazaq Junejo

Chairman Procurement Committee

Superintending Engineer DMC (South)

PROCUREMENT COMMITTEE DISTRICT MUNICIPLE CORPORATION SOUTH, KARACHI

CMOPARATIVE STATEMENT

Name of Work: - Repair Maintenance & improvement of streetlight system at UC-02 of DMC (South)

SR.#	DESCRIPTION		ENGIN	EER ESTIMA	TE	M/s. Ahme Services.	d Electric	M/s. Al Maqbool Associate.		M/s. S.M. Builders.	
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029 (E/W Page 6 Item 43)	990	SR	69.00	68,310	69.00	68,310	69.00	68,310	69.00	68,310
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029 (E/W Page 6 Item 45)	630	SR	147.00	92,610	147.00	92,610	147.00	92,610	147.00	92,610
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size (2-7/.036) 4mm2 (E/W Page 6 Item 46)	540	SR	118.00	63,720	118.00	63,720	118.00	63,720	118.00	63,720
4	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement & instruction of El. (E/W Page 27 Item 175)	90	SR	2105.00	189,450	2105.00	189,450	2105.00	189,450	2105.00	189,450
5	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El. (E/W Page 27 Item 176)	70	SR	3990.00	279,300	3990.00	279,300	3990.00	279,300	3990.00	279,300
6	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of EI. (E/W Page 28 Item 178)	80	SR	1119.00	89,520	1119.00	89,520	1119.00	89,520	1119.00	89,520
7	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El. (E/W Page 26 Item 190)	20	SR	423.00	8460	423.00	8460		8460	423.00	8460
8	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El. (E/W Page 29 Item 188)	22	SR	662.00	14,564	662.00	14,564	662.00	14,564	662.00	14,564

CONTINUE PAGE #02

9	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke,capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI. (E/W Page 45 Item 161)	10	SR	10105.00	101,050	10105.00	101,050	10105.00	101,050	10105.00	101,050
10	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts (E/W Page 21 Item 145)	10	SR	1876.00	18,760	1876.00	18,760	1876.00	18,760	1876.00	18,760
		Tota	of Sch	edule Items	925744		925744		925744		925744
						0.30%		0.31%		0.31%	
						Below	2777	Below	2870	Below	2870
							922976		922874		922874
	NON SCHEDULE ITEMS.										
11	P/F moon light body best quality as req.	50	Each	Offer Rate		410	20500	420	21000	420	21000
12	P/F energy saver 45-watts best quality as req.	25	Each	Offer Rate		772	19300	775	19375	780	19500
13	P/F energy saver 85-watts best quality as req.	25	Each	Offer Rate		1025	25625	1030	25750	1035	25875
14	P/F one way switch 20amp. best quality as req.	100	Each	Offer Rate		85	8500	85	8500	85	8500
	TOTAL AMOUNT OF	NON S	CHEDU				73925		74625		74875
						Total Amount of 1 st Bidder	996892	Total Amount of 2 nd Bidder	997499	Total Amount of 3 rd Bidder	997749

Mr. Shakeel Mughal

Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdu Razaq Jungo

Chairman Procurement Committee

Superintending Engineer DMC (South)

PROCUREMENT COMMITTEE

DISTRICT MUNICIPLE CORPORATION SOUTH, KARACHI

CMOPARATIVE STATEMENT

Name of Work: - Repair Maintenance & improvement of streetlight system at UC-03 of DMC (South)

SR.#	DESCRIPTION		ENGIN	EER ESTIMA	TE	M/s. Huzait Enterprises		M/s. S.M. Bi	uilders.	M/s. Ahmed Electric Services.	
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029 (E/W Page 6 Item 43)	810	SR	69.00	55,890	69.00	55,890	69.00	55,890	69.00	55,890
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029 (E/W Page 6 Item 45)	540	SR	147.00	79,380	147.00	79,380	147.00	79,380	147.00	79,380
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size (2-7/.036) 4mm2 (E/W Page 6 Item 46)	360	SR	118.00	42,480	118.00	42,480	118.00	42,480	118.00	42,480
4	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement & instruction of El. (E/W Page 27 Item 175)	100	SR	2105.00	210,500	2105.00	210,500	2105.00	210,500	2105.00	210,500
5	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El. (E/W Page 27 Item 176)	75	SR	3990.00	299,250	3990.00	299,250	3990.00	299,250	3990.00	299,250
6	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of EI. (E/W Page 28 Item 178)	100	SR	1119.00	111,900	1119.00	111,900	1119.00	111,900	1119.00	111,900
7	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El. (E/W Page 26 Item 190)	25	SR	423.00	10575	423.00	10575	423.00	10575	423.00	10575
8	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El. (E/W Page 29 Item 188)	30	SR	662.00	19,860	662.00	19,860	662.00	19,860	662.00	19,860

CONTINUE PAGE #02

9	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke,capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI. (E/W Page 45 Item 161)	8	SR	10105.00	80.840	10105.00	80.840	10105.00	80,840	10105.00	80,840
10	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts (E/W Page 21 Item 145)	8	SR	1876.00	15,008	1876.00	15,008	1876.00	15,008	1876.00	15,008
		Tota	of Sch	edule Items	925683		925683		925683		925683
						0.40%		0.38%		0.31%	
						Below	3703	Below	3517	Below	2870
							921980		922165		922874
	NON SCHEDULE ITEMS.										
11	P/F moon light body best quality as req.	50	Each	Offer Rate		406	20300	408	20400	410	20500
12	P/F energy saver 45-watts best quality as req.	25	Each	Offer Rate		770	19250	770	19250	775	19375
13	P/F energy saver 85-watts best quality as req.	25	Each	Offer Rate		1050	26250	1050	26250	1050	26250
14	P/F one way switch 20amp. best quality as req.	100	Each	Offer Rate		84	8400	85	8500	85	8500
	TOTAL AMOUNT OF	NON S	CHEDU	JLE ITEMS.			74200		74400		74625
						Total Amount of 1 st Bidder	996180	Total Amount of 2 nd Bidder	996565	Total Amount of 3 rd Bidder	996605

Mr. Shakeel Mughal

Member Procurement Committee

Executive Engineer DMC (South) Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junejo

Chairman Procurement Committee

Superintending Engineer DMC (South)

PROCUREMENT COMMITTEE

DISTRICT MUNICIPLE CORPORATION SOUTH, KARACHI

CMOPARATIVE STATEMENT

Name of Work: - Repair Maintenance & improvement of streetlight system at UC-04 of DMC (South)

SR.#	DESCRIPTION		ENGIN	EER ESTIMA	TE	M/s. Huzait Enterprises		M/s. S.M. Builders.		M/s. Waheed & Sons.	
	Providing & laving (MAIN or SLIB	QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029 (E/W Page 6 Item 43)	108 0	SR	69.00	74,520	69.00	74,520	69.00	74,520	69.00	74,520
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029 (E/W Page 6 Item 45)	810	SR	147.00	119,070	147.00	119,070	147.00	119,070	147.00	119,070
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size (2-7/.036) 4mm2 (E/W Page 6 Item 46)	360	SR	118.00	42,480	118.00	42,480	118.00	42,480	118.00	42,480
4	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement & instruction of EI. (E/W Page 27 Item 175)	80	SR	2105.00	168,400	2105.00	168,400	2105.00	168,400	2105.00	168,400
5	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El. (E/W Page 27 Item 176)	65	SR	3990.00	259,350	3990.00	259,350	3990.00	259,350	3990.00	259,350
6	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of El. (E/W Page 28 Item 178)	70	SR	1119.00	78,330	1119.00	78,330	1119.00	78,330	1119.00	78,330
7	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El. (E/W Page 26 Item 190)	30	SR	423.00	12690	423.00	12690	423.00	12690	423.00	12690
8	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El. (E/W Page 29 Item 188)	41	SR	662.00	27,142	662.00	27,142	662.00	27,142	662.00	27,142

CONTINUE PAGE #02

9	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke,capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI. (E/W Page 45 Item 161)	12	SR	10105.00	121,260	10105.00	121,260	10105.00	121,260	10105.00	121,260
10	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts (E/W Page 21 Item 145)	12	SR	1876.00	22,512	1876.00	22,512	1876.00	22,512	1876.00	22,512
		Total of Schedule Items		925754		925754		925754		925754	
						0.40% Below	3703	0.38% Below	3517	0.42% Below	2870
							921980		922165		921866
	NON SCHEDULE ITEMS.										
11	P/F moon light body best quality as req.	50	Each	Offer Rate		406	20300	408	20400	412	20600
12	P/F energy saver 45-watts best quality as req.	25	Each	Offer Rate		770	19250	770	19250	780	19500
13	P/F energy saver 85-watts best quality as req.	25	Each	Offer Rate		1050	26250	1050	26250	1050	26250
14	P/F one way switch 20amp. best quality as req.	100	Each	Offer Rate		84	8400	85	8500	90	9000
	TOTAL AMOUNT OF	NON S	SCHEDU	JLE ITEMS.			74200		74400		75350
						Total Amount of 1 st Bidder	996180	Total Amount of 2 nd Bidder	996565	Total Amount of 3 rd Bidder	997216

Mr. Shakeel Mughal

Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junej

Chairman Procurement Committee

Superintending Engineer DMC (South)

PROCUREMENT COMMITTEE

DISTRICT MUNICIPLE CORPORATION SOUTH, KARACHI

CMOPARATIVE STATEMENT

Name of Work: - Repair Maintenance & improvement of streetlight system at UC-05 of DMC (South)

SR.#	DESCRIPTION		ENGIN	EER ESTIMA	TE	M/s. Ahme Services.	M/s. Ahmed Electrical Services.		M/s. Ovais & Bilal Enterprises.		pectrum
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029 (E/W Page 6 Item 45)	720	SR	147.00	105,840	69.00	74,520	69.00	74,520	69.00	74,520
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029 (E/W Page 6 Item 43)	900	SR	69.00	62,100	147.00	119,070	147.00	119,070	147.00	119,070
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size (2-7/.036) 4mm2 (E/W Page 6 Item 46)	450	SR	118.00	53,100	118.00	42,480	118.00	42,480	118.00	42,480
4	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El. (E/W Page 27 Item 176)	70	SR	3990.00	279,300	2105.00	168,400	2105.00	168,400	2105.00	168,400
5	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement & instruction of El. (E/W Page 27 Item 175)	90	SR	2105.00	189,450	3990.00	259,350	3990.00	259,350	3990.00	259,350
6	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of EI. (E/W Page 28 Item 178)	84	SR	1119.00	93,996	1119.00	78,330	1119.00	78,330	1119.00	78,330
7	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El. (E/W Page 26 Item 190)	15	SR	423.00	6345	423.00	12690	423.00	12690	423.00	12690
8	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El. (E/W Page 29 Item 188)	23	SR	662.00	15,226	662.00	27,142	662.00	27,142	662.00	27,142

CONTINUE PAGE #02

9	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke,capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI. (E/W Page 45 Item 161)	10	SR	10105.00	101,050	10105.00	121,260	10105.00	121,260	10105.00	121,260
10	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts (E/W Page 21 Item 145)	10	SR	1876.00	18,760	1876.00	22,512	1876.00	22,512	1876.00	22,512
		Tota	of Sch	edule Items	925167		925167		925167		925167
						0.35% Below	3238	0.36% Below	3517	0.38% Below	3516
							921929		921836		921651
	NON SCHEDULE ITEMS.										
11	P/F moon light body best quality as req.	50	Each	Offer Rate		410	20500	410	20400	415	20750
12	P/F energy saver 45-watts best quality as req.	25	Each	Offer Rate		772	19300	775	19250	780	19500
13	P/F energy saver 85-watts best quality as req.	25	Each	Offer Rate		1025	25625	1030	26250	1030	25750
14	P/F one way switch 20amp. best quality as req.	100	Each	Offer Rate		85	8500	85	8500	85	8500
	TOTAL AMOUNT OF	NON S	CHEDL	JLE ITEMS.			73925		744125		74500
						Total Amount of 1 st Bidder	995854	Total Amount of 2 nd Bidder	995961	Total Amount of 3 rd Bidder	996151

Mr. Shaked Mughal

Member Procurement Committee

Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Juneto

Chairman Procurement Committee

Superintending Engineer DMC (South)

PROCUREMENT COMMITTEE

DISTRICT MUNICIPLE CORPORATION SOUTH, KARACHI

CMOPARATIVE STATEMENT

Name of Work: - Repair Maintenance & improvement of streetlight system at UC-06 of DMC (South)

SR.#	DESCRIPTION	ENGINEER EST		EER ESTIMA	R ESTIMATE		M/s. Waheed & Sons.		M/s. Al Maqbool Associate.		Electrical
	Describing a leading (MAIN or CUID	QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029 (E/W Page 6 Item 43)	900	SR	69.00	62,100	69.00	62,100	69.00	62,100	69.00	62,100
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029 (E/W Page 6 Item 45)	720	SR	147.00	105,840	147.00	105,840	147.00	105,840	147.00	105,840
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size (2-7/.036) 4mm2 (E/W Page 6 Item 46)	450	SR	118.00	53,100	118.00	53,100	118.00	53,100	118.00	53,100
4	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El. (E/W Page 26 Item 190)	15	SR	423.00	6345	423.00	6345	423.00	6345	423.00	6345
5	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El. (E/W Page 29 Item 188)	23	SR	662.00	15,226	662.00	15,226	662.00	15,226	662.00	15,226
6	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of El. (E/W Page 28 Item 178)	84	SR	1119.00	93,996	1119.00	93,996	1119.00	93,996	1119.00	93,996
7	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement & instruction of El. (E/W Page 27 Item 175)	90	SR	2105.00	189,450	2105.00	189,450	2105.00	189,450	2105.00	189,450
8	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El. (E/W Page 27 Item 176)	70	SR	3990.00	279,300	3990.00	279,300	3990.00	279,300	3990.00	279,300

CONTINUE PAGE #02

9	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts (E/W Page 21 Item 145)	10	SR	1876.00	18,760	1876.00	18,760	1876.00	18,760	1876.00	18,760
10	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke,capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI. (E/W Page 45 Item 161)	10	SR	10105.00	101,050	10105.00	101,050	10105.00	101,050	10105.00	101,050
		Tota	of Sch	edule Items	925167		925167		925167		925167
						0.50% Below	4626	0.42% Below	3517	0.38% Below	3238
							920541		921281		921929
	NON SCHEDULE ITEMS.										
11	P/F energy saver 85-watts best quality as req.	50	Each	Offer Rate		1050	26250	1055	26375	1060	26500
12	P/F one way switch 20amp. best quality as req.	25	Each	Offer Rate		84	8400	85	8500	85	8500
13	P/F moon light body best quality as req.	25	Each	Offer Rate		406	20300	406	20300	408	20400
14	P/F energy saver 45-watts best quality as req.	100	Each	Offer Rate		770	19250	775	19375	780	19500
	TOTAL AMOUNT OF	NON S	CHEDU	JLE ITEMS.			74200		74550		74900
						Total Amount of 1 st Bidder	994741	Total Amount of 2 nd Bidder	995831	Total Amount of 3 rd Bidder	996829

Member Procurement Committee

Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Razaq Junejo

Chairman Procurement Complittee

Superintending Engineer

CMOPARATIVE STATEMENT

Name of Work: - Repair Maintenance & improvement of streetlight system at UC-07 of DMC (South)

SR.#	DESCRIPTION		ENGIN	EER ESTIMA	TE	M/s. New S Enterprises		M/s. Al Maq Associate.	bool	M/s. S.M.Bu	lders.
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029 (E/W Page 6 Item 45)	630	SR	147.00	92,610	147.00	92,610	147.00	92,610	147.00	92,610
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size (2-7/.036) 4mm2 (E/W Page 6 Item 46)	540	SR	118.00	63,720	118.00	63,720	118.00	63,720	118.00	63,720
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029 (E/W Page 6 Item 43)	990	SR	69.00	68,310	69.00	68,310	69.00	68,310	69.00	68,310
4	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement & instruction of EI. (E/W Page 27 Item 175)	85	SR	2105.00	178,925	2105.00	178,925	2105.00	178,925	2105.00	178,925
5	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El. (E/W Page 27 Item 176)	75	SR	3990.00	299,250	3990.00	299,250	3990.00	299,250	3990.00	299,250
6	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of El. (E/W Page 28 Item 178)	85	SR	1119.00	95,115	1119.00	95,115	1119.00	95,115	1119.00	95,115
7	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke,capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI. (E/W Page 45 Item 161)	8	SR	10105.00	80,840	10105.00	80,840	10105.00	80,840	10105.00	80,840
8	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts (E/W Page 21 Item 145)	8	SR	1876.00	15,008	1876.00	15,008	1876.00	15,008	1876.00	15,008

9	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El. (E/W Page 26 Item 190)	28	SR	423.00	11844	423.00	11844	423.00	11844	423.00	11844
10	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El. (E/W Page 29 Item 188)	30	SR	662.00	19,860	662.00	19,860	662.00	19,860	662.00	19,860
		Tota	of Sche	edule Items	925482		925482		925482		925482
						0.20% Below	1851	0.19% Below	1758	0.20% Below	1851
							923631		923724		923631
	NON SCHEDULE ITEMS.										
11	P/F moon light body best quality as req.	50	Each	Offer Rate		420	21000	425	21250	430	21500
12	P/F energy saver 45-watts best quality as req.	25	Each	Offer Rate		775	19375	775	19375	775	19375
13	P/F energy saver 85-watts best quality as req.	25	Each	Offer Rate		1050	26250	1060	26500	1070	26750
14	P/F one way switch 20amp. best quality as req.	100	Each	Offer Rate		85	8500	85	8500	85	8500
	TOTAL AMOUNT OF	NON S	CHEDU	ILE ITEMS.			75125		75625		76125
						Total Amount of 1 st Bidder	998756	Total Amount of 2 nd Bidder	999349	Total Amount of 3 rd Bidder	999756

Member Procurement Committee

Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junejo

Chairman Procurement Committee

Superintending Engineer DMC (South)

CMOPARATIVE STATEMENT

Name of Work: - Repair Maintenance & improvement of streetlight system at UC-08 of DMC (South)

SR.#	DESCRIPTION		ENGIN	IEER ESTIMA	TE	M/s. Ovais Enterprises		M/s. New Sp Enterprises.	oectrum	M/s. Wahee	d & Sons.
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement & instruction of EI. (E/W Page 27 Item 175)	95	SR	2105.00	199,975	2105.00	199,975	2105.00	199,975	2105.00	199,975
2	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of EI. (E/W Page 27 Item 176)	70	SR	3990.00	279,300	3990.00	279,300	3990.00	279,300	3990.00	279,300
3	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of EI. (E/W Page 28 Item 178)	95	SR	1119.00	106,305	1119.00	106,305	1119.00	106,305	1119.00	106,305
4	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029 (E/W Page 6 Item 43)	810	SR	69.00	55,890	69.00	55,890	69.00	55,890	69.00	55,890
5	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029 (E/W Page 6 Item 45)	630	SR	147.00	92,610	147.00	92,610	147.00	92,610	147.00	92,610
6	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size (2-7/.036) 4mm2 (E/W Page 6 Item 46)	360	SR	118.00	42,480	118.00	42,480	118.00	42,480	118.00	42,480
7	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke, capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI. (E/W Page 45 Item 161)	8	SR	10105.00	80,840	10105.00	80,840	10105.00	80,840	10105.00	80,840
8	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts (E/W Page 21 Item 145)	8	SR	1876.00	15,008	1876.00	15,008	1876.00	15,008	1876.00	15,008

	TOTAL AMOUNT OF	NON S	SCHEDU	JLE ITEMS.		Total Amount of 1 st	89300 996175	Total Amount of 2 nd	89750 997992	Total Amount of 3 rd	90050
1.4	quality as req.	110	Each	Offer Rate		85		0.5		- 65	1-11-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1
14	req. P/F one way switch 20amp. best		Each	Offer Rate		420	9350	85	9350	85	9350
13	P/F moon light body best quality as	60					25200	425	25500	425	25500
12	P/F energy saver 85-watts best quality as req.	30	Each	Offer Rate		1050	31500	1050	31500	1055	31650
11	P/F energy saver 45-watts best quality as req.	30	Each	Offer Rate		775	23250	780	23400	785	23550
	NON SCHEDULE ITEMS.						300073		323724		300313
						Below	4557 906875	Below	3190 923724	Below	2916 908515
						0.50%	4557	0.35 %	2400	0.32%	2010
	d	Tota	of Sche	edule Items	911432		911432		911432		911432
10	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El. (E/W Page 29 Item 188)	27	SR	662.00	17,874	662.00	17,874	662.00	17,874	662.00	17,874
9	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of EI. (E/W Page 26 Item 190)	50	SR	423.00	21150	423.00	21150	423.00	21150	423.00	21150

Member Procurement Committee

Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi

Mr. Abdul Razaq Juneio Chairman Procurement Committee

Superintending Engineer DMC (South)

CMOPARATIVE STATEMENT

Name of Work: - Repair Maintenance & improvement of streetlight system at UC-09 of DMC (South)

SR.#	DESCRIPTION		ENGIN	EER ESTIMA	TE	M/s. Wahe	ed & Sons.	M/s. Ovais 8 Enterprises.		M/s. S.M.Bu	ilders.
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029 (E/W Page 6 Item 43)	900	SR	69.00	62,100	2105.00	199,975	2105.00	199,975	2105.00	199,975
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029 (E/W Page 6 Item 45)	720	SR	147.00	105,840	3990.00	279,300	3990.00	279,300	3990.00	279,300
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size (2-7/.036) 4mm2 (E/W Page 6 Item 46)	450	SR	118.00	53,100	1119.00	106,305	1119.00	106,305	1119.00	106,305
4	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement & instruction of EI. (E/W Page 27 Item 175)	90	SR	2105.00	189,450	69.00	55,890	69.00	55,890	69.00	55,890
5	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El. (E/W Page 27 Item 176)	70	SR	3990.00	279,300	147.00	92,610	147.00	92,610	147.00	92,610
6	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of EI. (E/W Page 28 Item 178)	84	SR	1119.00	93,996	118.00	42,480	118.00	42,480	118.00	42,480
7	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El. (E/W Page 26 Item 190)	15	SR	423.00	6345	10105.00	80,840	10105.00	80,840	10105.00	80,840
8	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El. (E/W Page 29 Item 188)	23	SR	662.00	15,226	1876.00	15,008	1876.00	15,008	1876.00	15,008

											THOLHOL
9	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke,capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI. (E/W Page 45 Item 161)	10	SR	10105.00	101,050	423.00	21150	423.00	21150	423.00	21150
10	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts (E/W Page 21 Item 145)	10	SR	1876.00	18,760	662.00	17,874	662.00	17,874	662.00	17,874
		Tota	of Sch	edule Items	925167		925167		925167		925167
						0.40% Below	3701	0.35 % Below	3238	0.30% Below	2776
						20.011	921466		921929		922391
	NON SCHEDULE ITEMS.						322100				
11	P/F moon light body best quality as req.	50	Each	Offer Rate		406	20300	406	20300	410	20500
12	P/F energy saver 45-watts best quality as req.	25	Each	Offer Rate		770	19250	775	19375	780	19500
13	P/F energy saver 85-watts best quality as req.	25	Each	Offer Rate		1050	26250	1055	26375	1060	26500
14	P/F one way switch 20amp. best quality as req.	100	Each	Offer Rate		84	8400	84	8400	84	8400
	TOTAL AMOUNT OF	NON S	SCHEDU	JLE ITEMS.			74200		74450		74900
						Total Amount of 1 st Bidder	995666	Total Amount of 2 nd Bidder	996379	Total Amount of 3 rd Bidder	997291

Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Anmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junejo

Chairman Procurement Committee Superintending Engineer

CMOPARATIVE STATEMENT

Name of Work: - Repair Maintenance & improvement of streetlight system at UC-10 of DMC (South)

SR.#	DESCRIPTION		ENGIN	IEER ESTIMA	TE	M/s. Ovais Enterprises		M/s. Ahmed Services.	Electrical	M/s. Al Maq	bool Assiciate.
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement & instruction of El. (E/W Page 27 Item 175)	90	SR	2105.00	189,450	2105.00	189,450	2105.00	189,450	2105.00	189,450
2	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El. (E/W Page 27 Item 176)	70	SR	3990.00	279,300	3990.00	279,300	3990.00	279,300	3990.00	279,300
3	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of El. (E/W Page 28 Item 178)	84	SR	1119.00	93,996	1119.00	93,996	1119.00	93,996	1119.00	93,996
4	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029 (E/W Page 6 Item 43)	900	SR	69.00	62,100	69.00	62,100	69.00	62,100	69.00	62,100
5	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029 (E/W Page 6 Item 45)	720	SR	147.00	105,840	147.00	105,840	147.00	105,840	147.00	105,840
6	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size (2-7/.036) 4mm2 (E/W Page 6 Item 46)	450	SR	118.00	53,100	118.00	53,100	118.00	53,100	118.00	53,100
7	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El. (E/W Page 26 Item 190)	15	SR	423.00	6345	423.00	6345	423.00	6345	423.00	6345
8	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El. (E/W Page 29 Item 188)	23	SR	662.00	15,226	662.00	15,226	662.00	15,226	662.00	15,226

9	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke,capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI. (E/W Page 45 Item 161)	10	SR	10105.00	101,050	10105.00	101,050	10105.00	101,050	10105.00	101,050
10	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts (E/W Page 21 Item 145)	10	SR	1876.00	18,760	1876.00	18,760	1876.00	18,760	90 772 1053 407 Total Amount of 3 rd	18,760
		Tota	of Sch	edule Items	925167		925167		925167		925167
						0.50%		0.42 %		0.35%	
						Below	46251	Below	38851	Below	3238
							920541		921281		921929
	NON SCHEDULE ITEMS.										
11	P/F one way switch 20amp. best quality as req.	100	Each	Offer Rate		84	8400	85	8500	90	9000
12	P/F energy saver 45-watts best quality as req.	25	Each	Offer Rate		770	19250	770	19250	772	19300
13	P/F energy saver 85-watts best quality as req.	25	Each	Offer Rate		1050	26250	1052	26300	1053	26325
14	P/F moon light body best quality as req.	50	Each	Offer Rate		406	20300	406	20300	407	20350
	TOTAL AMOUNT OF	NON S	CHEDU	JLE ITEMS.			74200		74350		74975
						Total Amount of 1 st Bidder	994741	Total Amount of 2 nd Bidder	995631	Amount	996904

Member Procurement Committee

Executive Engineer DMC (South) Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq June

Chairman Procurement Committee
Superintending Engineer

CMOPARATIVE STATEMENT

Name of Work: - Repair Maintenance & improvement of streetlight system at UC-11 of DMC (South)

SR.#	DESCRIPTION		ENGIN	EER ESTIMA	TE	M/s. Huzaif Enterprises		M/s. New Sp Enterprises.		M/s. Ovais 8 Enterprises.	k Bilal
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029 (E/W Page 6 Item 43)	900	SR	69.00	62,100	69.00	62,100	69.00	62,100	69.00	62,100
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029 (E/W Page 6 Item 45)	720	SR	147.00	105,840	147.00	105,840	147.00	105,840	147.00	105,840
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size (2-7/.036) 4mm2 (E/W Page 6 Item 46)	450	SR	118.00	53,100	118.00	53,100	118.00	53,100	118.00	53,100
4	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement & instruction of El. (E/W Page 27 Item 175)	83	SR	2105.00	174,715	2105.00	174,715	2105.00	174,715	2105.00	174,715
5	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El. (E/W Page 27 Item 176)	65	SR	3990.00	259,350	3990.00	259,350	3990.00	259,350	3990.00	259,350
6	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of EI. (E/W Page 28 Item 178)	80	SR	1119.00	89,520	1119.00	89,520	1119.00	89,520	1119.00	89,520
7	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El. (E/W Page 26 Item 190)	15	SR	423.00	6345	423.00	6345	1	6345	423.00	6345
8	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El. (E/W Page 29 Item 188)	24	SR	662.00	15,888	662.00	15,888	662.00	15,888	662.00	15,888

9	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke,capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI. (E/W Page 45 Item 161)	12	SR	10105.00	121,260	10105.00	121,260	10105.00	121,260	10105.00	121,260
10	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts (E/W Page 21 Item 145)	12	SR	1876.00	22,512	1876.00	22,512	1876.00	22,512	1876.00	22,512
		Tota	of Sch	edule Items	910630		910630		910630		910630
						0.50%		0.48 %		0.40%	
						Below	4553	Below	4371	Below	3642
							906077		906259		921929
	NON SCHEDULE ITEMS.										
11	P/F moon light body best quality as req.	60	Each	Offer Rate		406	24360	410	24600	420	25200
12	P/F energy saver 45-watts best quality as req.	30	Each	Offer Rate		770	23100	775	23250	780	23400
13	P/F energy saver 85-watts best quality as req.	30	Each	Offer Rate		1050	31500	1070	32100	1080	32400
14	P/F one way switch 20amp. best quality as req.	120	Each	Offer Rate		84	10080	90	10800	100	12000
	TOTAL AMOUNT OF	NON S	SCHEDL	JLE ITEMS.			89040		90750		93000
						Total Amount of 1 st Bidder	995117	Total Amount of 2 nd Bidder	997009	Total Amount of 3 rd Bidder	999987

Member Procurement Committee

Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junejo Chairman Procurement Committee

Superintending Engineer DMC (South)

CMOPARATIVE STATEMENT

Name of Work: - Repair Maintenance & improvement of streetlight system at UC-12 of DMC (South)

SR.#	DESCRIPTION		ENGIN	EER ESTIMA	TE	M/s. Ahme Services.	d Electrical	M/s. S.M.Bu	ilders.	M/s. Al Maq Associate.	bool
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029 (E/W Page 6 Item 43)	108 0	SR	69.00	74,520	69.00	74,520	69.00	74,520	69.00	74,520
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029 (E/W Page 6 Item 45)	540	SR	147.00	79,380	147.00	79,380	147.00	79,380	147.00	79,380
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size (2-7/.036) 4mm2 (E/W Page 6 Item 46)	630	SR	118.00	74,340	118.00	74,340	118.00	74,340	118.00	74,340
4	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement & instruction of El. (E/W Page 27 Item 175)	80	SR	2105.00	168,400	2105.00	168,400	2105.00	168,400	2105.00	168,400
5	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El. (E/W Page 27 Item 176)	60	SR	3990.00	239,400	3990.00	239,400	3990.00	239,400	3990.00	239,400
6	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of El. (E/W Page 28 Item 178)	80	SR	1119.00	89,520	1119.00	89,520	1119.00	89,520	1119.00	89,520
7	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El. (E/W Page 26 Item 190)	29	SR	423.00	12267	423.00	12267	423.00	12267	423.00	12267
8	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El. (E/W Page 29 Item 188)	30	SR	662.00	19,860	662.00	19,860	662.00	19,860	662.00	19,860

9	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke,capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI. (E/W Page 45 Item 161)	14	SR	10105.00	141,470	10105.00	141,470	10105.00	141,470	10105.00	141,470
10	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts (E/W Page 21 Item 145)	14	SR	1876.00	26,264	1876.00	26,264	1876.00	26,264	1876.00	26,264
		Tota	of Sch	edule Items	925421		925421		925421		925421
						0.32%		0.34%		0.35%	
						Below	2967	Below	3146	Below	3239
							922460		922273		922182
	NON SCHEDULE ITEMS.										
11	P/F moon light body best quality as req.	50	Each	Offer Rate		410	20500	412	20600	415	20750
12	P/F energy saver 45-watts best quality as req.	25	Each	Offer Rate		772	19300	775	19375	780	19500
13	P/F energy saver 85-watts best quality as req.	25	Each	Offer Rate		1025	25625	1032	25800	1035	25875
14	P/F one way switch 20amp. best quality as req.	100	Each	Offer Rate		85	8500	85	8500	85	8500
	TOTAL AMOUNT OF	NON S	SCHEDU	JLE ITEMS.			73925		74275		74625
						Total Amount of 1 st Bidder	995117	Total Amount of 2 nd Bidder	996548	Total Amount of 3 rd Bidder	996807

Member Procurement Committee

Executive Engineer DMC (South) Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdu Razaq Junejo

Chairman Procurement Committee

Superintending Engineer DMC (South)

CMOPARATIVE STATEMENT

Name of Work: - Repair Maintenance & improvement of streetlight system at UC-13 of DMC (South)

SR.#	DESCRIPTION		ENGIN	EER ESTIMA	TE	M/s. Wahe	ed & Sons.	M/s. Huzaifa	a Enterprises.	M/s. New Spectrum Enterprises.	
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029 (E/W Page 6 Item 43)	900	SR	69.00	62,100	69.00	62,100	69.00	62,100	69.00	62,100
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029 (E/W Page 6 Item 45)	720	SR	147.00	105,840	147.00	105,840	147.00	105,840	147.00	105,840
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size (2-7/.036) 4mm2 (E/W Page 6 Item 46)	450	SR	118.00	53,100	118.00	53,100	118.00	53,100	118.00	53,100
4	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement & instruction of El. (E/W Page 27 Item 175)	90	SR	2105.00	189,450	2105.00	189,450	2105.00	189,450	2105.00	189,450
5	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El. (E/W Page 27 Item 176)	70	SR	3990.00	279,300	3990.00	279,300	3990.00	279,300	3990.00	279,300
6	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of EI. (E/W Page 28 Item 178)	84	SR	1119.00	93,996	1119.00	93,996	1119.00	93,996	1119.00	93,996
7	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El. (E/W Page 26 Item 190)	15	SR	423.00	6345	423.00	6345	423.00	6345	423.00	6345
8	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El. (E/W Page 29 Item 188)	23	SR	662.00	15,226	662.00	15,226	662.00	15,226	662.00	15,226

9	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke,capacitor & Internal wiring complete in all respect at the height up to 31ft as per site										
	requirement and instruction of El. (E/W Page 45 Item 161)	10	SR	10105.00	101,050	10105.00	101,050	10105.00	101,050	10105.00	101,050
10	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts (E/W Page 21 Item 145)	10	SR	1876.00	18,760	1876.00	18,760	1876.00	18,760	1876.00	18,760
		Tota	1.500.007.00	edule Items	925167		925167	, , , , , , , , , , , , , , , , , , , ,	925167		925167
						0.51% Below	4626	0.42% Below	3886	0.35% Below	3231
						DCIOW	920541	DCIOV	921281	Below	921929
	NON SCHEDULE ITEMS.						320341		321201		321323
11	P/F moon light body best quality as req.	50	Each	Offer Rate		410	20500	410	20500	410	20500
12	P/F energy saver 45-watts best quality as req.	25	Each	Offer Rate		770	19250	775	19375	780	19500
13	P/F energy saver 85-watts best quality as req.	25	Each	Offer Rate		1050	26250	1055	26375	1060	26500
14	P/F one way switch 20amp. best quality as req.	100	Each	Offer Rate		85	8500	85	8500	86	8600
	TOTAL AMOUNT OF	NON S	SCHEDU	JLE ITEMS.			74500		74750		75100
						Total Amount of 1 st Bidder	995041	Total Amount of 2 nd Bidder	996031	Total Amount of 3 rd Bidder	997029

Member Procurement Committee

Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Raxaq Junejo

Chairman Procurement Committee

Superintending Engineer DMC (South)

PROCUREMENT COMMITTEE

DISTRICT MUNICIPLE CORPORATION SOUTH, KARACHI

CMOPARATIVE STATEMENT

Name of Work: - Repair Maintenance & improvement of streetlight system at UC-14 of DMC (South)

SR.#	DESCRIPTION	ENGINEER ESTIMATE				M/s. Ovais Enterprises		M/s. Waheed & Sons.		M/s. S.M.Builders.	
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029 (E/W Page 6 Item 43)	810	SR	69.00	55,890	69.00	55,890	69.00	55,890	69.00	55,890
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029 (E/W Page 6 Item 45)	630	SR	147.00	92.610	147.00	92,610	147.00	92,610	147.00	92,610
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size (2-7/.036) 4mm2 (E/W Page 6 Item 46)	450	SR	118.00	53,100	118.00	53,100	118.00	53,100	118.00	53,100
4	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement & instruction of EI. (E/W Page 27 Item 175)	75	SR	2105.00	157,875	2105.00	157,875	2105.00	157,875	2105.00	157,875
5	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El. (E/W Page 27 Item 176)	60	SR	3990.00	239,400	3990.00	239,400	3990.00	239,400	3990.00	239,400
6	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of EI. (E/W Page 28 Item 178)	80	SR	1119.00	89,520	1119.00	89,520	1119.00	89,520	1119.00	89,520
7	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El. (E/W Page 26 Item 190)	40	SR	423.00	16920	423.00	16920		16920	423.00	16920
8	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of EI. (E/W Page 29 Item 188)	35	SR	662.00	23,170	662.00	23,170	662.00	23,170	662.00	23,170

9	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke,capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI. (E/W Page 45 Item 161)	15	SR	10105.00	151,575	10105.00	151,575	10105.00	151,575	10105.00	151,575
10	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts (E/W Page 21 Item 145)	15	SR	1876.00	28,140	1876.00	28,140	1876.00	28,140	1876.00	28,140
		Tota	l of Sch	edule Items	908200		908200		908200		908200
						0.55% Below	4995	0.48% Below	4259	0.42% Below	3814
							903200		903841		904386
	NON SCHEDULE ITEMS.										
11	P/F energy saver 85-watts best quality as req.	30	Each	Offer Rate		1050	31500	1055	31650	1060	31800
12	P/F one way switch 20amp. best quality as req.	104	Each	Offer Rate		85	8840	85	8840	85	8840
13	P/F moon light body best quality as req.	70	Each	Offer Rate		420	29400	420	29400	425	29750
14	P/F energy saver 45-watts best quality as req.	30	Each	Offer Rate		775	23250	780	23400	780	23400
	TOTAL AMOUNT OF	NON S		7.96.45.47.07.00.000.00		100000	92992		93290		93790
						Total Amount of 1 st Bidder	996197	Total Amount of 2 nd Bidder	997131	Total Amount of 3 rd Bidder	998176

Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi

Mr. Abdul Razaq Junejo Chairman Procurement Committee

Superintending Engineer DMC (South)

CMOPARATIVE STATEMENT

Name of Work: - Repair Maintenance & improvement of streetlight system at UC-15 of DMC (South)

SR.#	DESCRIPTION		ENGIN	IEER ESTIMA	TE	M/s. Wahe	ed & Sons.	M/s. Ahmed Services.	l Electrical	M/s. S.M.Builders.	
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029 (E/W Page 6 Item 43)	990	SR	69.00	68,310	69.00	68,310	69.00	68,310	69.00	68,310
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029 (E/W Page 6 Item 45)	720	SR	147.00	105,840	147.00	105,840	147.00	105,840	147.00	105,840
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size (2-7/.036) 4mm2 (E/W Page 6 Item 46)	450	SR	118.00	53,100	118.00	53,100	118.00	53,100	118.00	53,100
4	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement & instruction of El. (E/W Page 27 Item 175)	78	SR	2105.00	164,190	2105.00	164,190	2105.00	164,190	2105.00	164,190
5	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El. (E/W Page 27 Item 176)	65	SR	3990.00	259,350	3990.00	259,350	3990.00	259,350	3990.00	259,350
6	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of EI. (E/W Page 28 Item 178)	75	SR	1119.00	83,925	1119.00	83,925	1119.00	83,925	1119.00	83,925
7	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El. (E/W Page 26 Item 190)	40	SR	423.00	16920	423.00	16920	423.00	16920	423.00	16920
8	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El. (E/W Page 29 Item 188)	30	SR	662.00	19,860	662.00	19,860	662.00	19,860	662.00	19,860

9	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke,capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI. (E/W Page 45 Item 161)	10	SR	10105.00	101,050	10105.00	101,050	10105.00	101,050	10105.00	101,050
10	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts (E/W Page 21 Item 145)	10	SR	1876.00	18,760	1876.00	18,760	1876.00	18,760	1876.00	18,760
		Tota	of Sch	edule Items	891305		891305		891305		891305
						0.55% Below	2674	0.35% Below	3120	0.38% Below	3387
							888631		888185		887918
	NON SCHEDULE ITEMS.										
11	P/F moon light body best quality as req.	65	Each	Offer Rate		410	26650	415	26975	420	27300
12	P/F energy saver 45-watts best quality as req.	40	Each	Offer Rate		770	30800	775	31000	780	31200
13	P/F energy saver 85-watts best quality as req.	40	Each	Offer Rate		1050	42000	1050	42000	1050	42000
14	P/F one way switch 20amp. best quality as req.	110	Each	Offer Rate		85	9350	86	9460	86	9460
	TOTAL AMOUNT OF	NON S	CHEDU	JLE ITEMS.			108800		109435		109960
						Total Amount of 1 st Bidder	997431	Total Amount of 2 nd Bidder	997620	Total Amount of 3 rd Bidder	997878

Member Procurement Committee

Executive Engineer DMC (South) Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junej

Chairman Procurement Committee

Superintending Engineer DMC (South)

NIT No: EE/DMC/S/205/2017 DATED: - 06-03-2017

Tender published: -

SPPRA Website (www.pprasindh.gov.pk) SPPRA Sr. No. 31980

Work # 02

Method of Procurement: - Single Stage - One Envelope Procedure

Description of Work: -

Repair Maintenance & improvement of streetlight system at UC-02 of DMC (South)

Name of Bidder: -

M/s. Ahmed Electrical Services. (1st Lowest)

Eligibility/Qualification Criteria: -

Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. Ahmed Electrical Services.	M/s. AL Ma Associate.	qbool	M/s. S.M. Builders.
1	Electric license for electric work	Available	Avai	lable	Available
2	NTN Certificate	Available	Avai	lable	Available
3	Pay Order of Bid Security	Available	Avai	lable	Available
4	Profession Tax Certificate	Available	Avai	lable	Available
5	Certificate Sindh Revenue Board	Available	Avai	lable	Available
6	Minimum 03 Years Experience of relevant field	Available	Avai	lable	Available
7	Turnover at last 03 Years	Available, above than Estimate coast	the common fitter addition on the	above than	Available, above than Estimate coast
8	Rate Must be quoted in figure & words	Yes	Ye	es	Yes
9	Bid is signed, Named and stamp by the authorized person of the firm along with authorization letter	Yes	Ye	es	Yes
10	Bid Must Be Submitted in sealed cover	Yes	Ye	es	Yes
Qualifi	ed/Disqualified	Qualified	Qual	ified	Qualified

Mr. Shakeel Mughal

Member Procurement Committee

Executive Engineer DMC (South) Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Juneja

NIT No: EE/DMC/S/205/2017 DATED: + 06-03-2017

Tender published: -

SPPRA Website (www.pprasindh.gov.pk) SPPRA Sr. No. 31980

Work # 01

Method of Procurement: - Single Stage - One Envelope Procedure

Description of Work: -

Repair Maintenance & improvement of streetlight system at UC-01 of DMC (South)

Name of Bidder: -

M/s. Huzaifa Enterprises. (1st Lowest)

Eligibility/Qualification Criteria: -

Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. Huzaifa Enterprises	M/s. AL Ma Associate	aqbool	M/s. New Spectrum
1	Electric license for electric work	Available	Ava	ilable	Available
2	NTN Certificate	Available	Ava	ilable	Available
3	Pay Order of Bid Security	Available	Ava	ilable	Available
4	Profession Tax Certificate	Available	Ava	ilable	Available
5	Certificate Sindh Revenue Board	Available	Ava	ilable	Available
6	Minimum 03 Years Experience of relevant field	Available	Ava	ilable	Available
7	Turnover at last 03 Years	Available, above than Estimate coast		above than te coast	Available, above than Estimate coast
8	Rate Must be quoted in figure & words	Yes	Y	es	Yes
9	Bid is signed, Named and stamp by the authorized person of the firm along with authorization letter	Yes	Y	es	Yes
10	Bid Must Be Submitted in sealed cover	Yes		es	Yes
Qualifi	ed/Disqualified	Qualified	Qua	lified	Qualified

Mr. Shakeel Mughal

Member Procurement Committee

Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Razaq June

Chairman Procurement Committee

Superintending Engineer

NIT No: EE/DMC/S/205/2017 DATED: - 06-03-2017

Tender published: -

SPPRA Website (www.pprasindh.gov.pk) SPPRA Sr. No. 31980

Work # 03

Method of Procurement: - Single Stage - One Envelope Procedure

Description of Work: -

Repair Maintenance & improvement of streetlight system at UC-03 of DMC (South)

Name of Bidder: -

M/s. Huzaifa Enterprises. (1st Lowest)

Eligibility/Qualification Criteria: -

Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. Huzaifa Enterprises.	M/s. S.M. E	Builders.	M/s. Ahmed Electrical Services.
1	Electric license for electric work	Available	Avai	ilable	Available
2	NTN Certificate	Available	Avai	ilable	Available
3	Pay Order of Bid Security	Available	Avai	ilable	Available
4	Profession Tax Certificate	Available	Avai	lable	Available
5	Certificate Sindh Revenue Board	Available	Avai	lable	Available
6	Minimum 03 Years Experience of relevant field	Available	Avai	lable	Available
7	Turnover at last 03 Years	Available, above than Estimate coast	A CONTRACTOR OF THE PROPERTY O	above than te coast	Available, above than Estimate coast
8	Rate Must be quoted in figure & words	Yes	Y	es	Yes
9	Bid is signed, Named and stamp by the authorized person of the firm along with authorization letter	Yes	Y	es	Yes
10	Bid Must Be Submitted in sealed cover	Yes	Y	es	Yes
Qualifi	ed/Disqualified	Qualified	Qua	lified	Qualified

Mr. Shakeel Mughal

Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junejo

Chairman Procurement Committee Superintending Engineer

NIT No: EE/DMC/S/205/2017 DATED: - 06-03-2017

Tender published: -

SPPRA Website (www.pprasindh.gov.pk) SPPRA Sr. No. 31980

Work # 04

Method of Procurement: - Single Stage - One Envelope Procedure

Description of Work: -

Repair Maintenance & improvement of streetlight system at UC-04 of DMC (South)

Name of Bidder: -

M/s. Huzaifa Enterprises. (1st Lowest)

Eligibility/Qualification Criteria: -

Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. Huzaifa Enterprises.	M/s. S.M.	Builders.	M/s. Waheed & Sons.
1	Electric license for electric work	Available	Ava	ilable	Available
2	NTN Certificate	Available	Ava	ilable	Available
3	Pay Order of Bid Security	Available	Ava	ilable	Available
4	Profession Tax Certificate	Available	Ava	ilable	Available
5	Certificate Sindh Revenue Board	Available	Ava	ilable	Available
6	Minimum 03 Years Experience of relevant field	Available	Ava	ilable	Available
7	Turnover at last 03 Years	Available, above than Estimate coast		above than	Available, above than Estimate coast
8	Rate Must be quoted in figure & words	Yes		'es	Yes
9	Bid is signed, Named and stamp by the authorized person of the firm along with authorization letter	Yes	Y	es	Yes
10	Bid Must Be Submitted in sealed cover	Yes	Y	es	Yes
Qualifi	ed/Disqualified	Qualified	Qua	lified	Qualified

Mr. Shakeel Mughal

Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junejo

Chairman Procurement Committee

Superintending Engineer

NIT No: EE/DMC/S/205/2017 DATED: - 06-03-2017

Tender published: -

SPPRA Website (www.pprasindh.gov.pk) SPPRA Sr. No. 31980

Work # 05

Method of Procurement: - Single Stage - One Envelope Procedure

Description of Work: -

Repair Maintenance & improvement of streetlight system at UC-05 of DMC (South)

Name of Bidder: -

M/s. Ahmed Electrical Services. (1st Lowest)

Eligibility/Qualification Criteria: -

Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. Ahmed Electrical Services.	M/s. Owai		M/s. New Spectrum.
1	Electric license for electric work	Available	Ava	ailable	Available
2	NTN Certificate	Available	Ava	ilable	Available
3	Pay Order of Bid Security	Available	Ava	ilable	Available
4	Profession Tax Certificate	Available	Ava	ilable	Available
5	Certificate Sindh Revenue Board	Available	Ava	ilable	Available
6	Minimum 03 Years Experience of relevant field	Available	Ava	ilable	Available
7	Turnover at last 03 Years	Available, above than Estimate coast		above than	Available, above than Estimate coast
8	Rate Must be quoted in figure & words	Yes		'es	Yes
9	Bid is signed, Named and stamp by the authorized person of the firm along with authorization letter	Yes	Y	'es	Yes
10	Bid Must Be Submitted in sealed cover	Yes	Y	es	Yes
Qualifi	ed/Disqualified	Qualified	Qua	lified	Qualified

Mr. Shakeer Mughal VVIZ Member Procurement Committee

> Executive Engineer DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junelo

NIT No: EE/DMC/S/205/2017 DATED: - 06-03-2017

Tender published: - SPPRA Website (<u>www.pprasindh.gov.pk</u>) SPPRA Sr. No. 31980

Work # 06

Method of Procurement: - Single Stage - One Envelope Procedure

Description of Work: - Repair Maintenance & improvement of streetlight system at UC-06 of DMC (South)

Name of Bidder: - M/s. Waheed & Sons. (1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. Waheed & Sons.	M/s. AL Maqbool Associate.	M/s. Ahmed Electrical Services.
1	Electric license for electric work	Available	Available	Available
2	NTN Certificate	Available	Available	Available
3	Pay Order of Bid Security	Available	Available	Available
4	Profession Tax Certificate	Available	Available	Available
5	Certificate Sindh Revenue Board	Available	Available	Available
6	Minimum 03 Years Experience of relevant field	Available	Available	Available
7	Turnover at last 03 Years	Available, above than Estimate coast	Available, above that Estimate coast	Available, above than Estimate coast
8	Rate Must be quoted in figure & words	Yes	Yes	Yes
9	Bid is signed, Named and stamp by the authorized person of the firm along with authorization letter	Yes	Yes	Yes
10	Bid Must Be Submitted in sealed cover	Yes	Yes	Yes
Qualifi	ed/Disqualified	Qualified	Qualified	Qualified

Member Procurement Committee

Executive Engineer DMC (South) Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Ravaq Junejo

NIT No: EE/DMC/S/205/2017 DATED: - 06-03-2017

Tender published: -

SPPRA Website (www.pprasindh.gov.pk) SPPRA Sr. No. 31980

Work # 07

Method of Procurement: - Single Stage - One Envelope Procedure

Description of Work: -

Repair Maintenance & improvement of streetlight system at UC-07 of DMC (South)

Name of Bidder: -

M/s. New Spectrum Enterprises. (1st Lowest)

Eligibility/Qualification Criteria: -

Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. New Spectrum Enterprises.	M/s. AL M Associate.	aqbool	M/s. S.M. Builders.
1	Electric license for electric work	Available	Ava	ilable	Available
2	NTN Certificate	Available	Ava	ilable	Available
3	Pay Order of Bid Security	Available	Ava	ilable	Available
4	Profession Tax Certificate	Available	Ava	ilable	Available
5	Certificate Sindh Revenue Board	Available	Ava	ilable	Available
6	Minimum 03 Years Experience of relevant field	Available	Ava	ilable	Available
7	Turnover at last 03 Years	Available, above than Estimate coast	The Transfer of the New York and the	above than te coast	Available, above than Estimate coast
8	Rate Must be quoted in figure & words	Yes		es	Yes
9	Bid is signed, Named and stamp by the authorized person of the firm along with authorization letter	Yes	Y	es	Yes
10	Bid Must Be Submitted in sealed cover	Yes	Y	es	Yes
Qualifi	ed/Disqualified	Qualified	Qua	lified	Qualified

Mr. Shakeel Mughal

Member Procurement Committee

Executive Ingineer DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Jungo

NIT No: EE/DMC/S/205/2017 DATED: - 06-03-2017

Tender published: -

SPPRA Website (www.pprasindh.gov.pk) SPPRA Sr. No. 31980

Work # 08

Method of Procurement: - Single Stage - One Envelope Procedure

Description of Work: -

Repair Maintenance & improvement of streetlight system at UC-08 of DMC (South)

Name of Bidder: -

M/s. Owais & Bilal Enterprises. (1st Lowest)

Eligibility/Qualification Criteria: -

Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. Owais & Bilal Enterprises.	M/s. New S Enterprises	The state of the s	M/s. Waheed & Sons.
1	Electric license for electric work	Available	Avai	lable	Available
2	NTN Certificate	Available	Avai	lable	Available
3	Pay Order of Bid Security	Available	Avai	lable	Available
4	Profession Tax Certificate	Available	Avai	lable	Available
5	Certificate Sindh Revenue Board	Available	Avai	lable	Available
6	Minimum 03 Years Experience of relevant field	Available	Avai	lable	Available
7	Turnover at last 03 Years	Available, above than Estimate coast	2.20	above than e coast	Available, above than Estimate coast
8	Rate Must be quoted in figure & words	Yes	Ye	s	Yes
9	Bid is signed, Named and stamp by the authorized person of the firm along with authorization letter	Yes	Ye	es	Yes
10	Bid Must Be Submitted in sealed cover	Yes	Ye	es	Yes
Qualifi	ied/Disqualified	Qualified	Qual	ified	Qualified

Mr. Shakes Mughal

Member Procurement Committee

Executive Engineer
DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Jupej

NIT No: EE/DMC/S/205/2017 DATED: - 06-03-2017

Tender published: - SPPRA Website (www.pprasindh.gov.pk) SPPRA Sr. No. 31980

Work # 09

Method of Procurement: - Single Stage - One Envelope Procedure

Description of Work: - Repair Maintenance & improvement of streetlight system at UC-09 of DMC (South)

Name of Bidder: - M/s. Waheed & Sons. (1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. Waheed & Sons.	M/s. Ovais Enterprises		M/s. S.M. Builders.
1	Electric license for electric work	Available	Avai	ilable	Available
2	NTN Certificate	Available	Avai	ilable	Available
3	Pay Order of Bid Security	Available	Avai	ilable	Available
4	Profession Tax Certificate	Available	Avai	ilable	Available
5	Certificate Sindh Revenue Board	Available	Avai	ilable	Available
6	Minimum 03 Years Experience of relevant field	Available	Avai	ilable	Available
7	Turnover at last 03 Years	Available, above than Estimate coast		above than te coast	Available, above than Estimate coast
8	Rate Must be quoted in figure & words	Yes	Y	es	Yes
9	Bid is signed, Named and stamp by the authorized person of the firm along with authorization letter	Yes	Y	es	Yes
10	Bid Must Be Submitted in sealed cover	Yes	Y	es	Yes
Qualifi	ed/Disqualified	Qualified	Qual	lified	Qualified

Mr. Shakeel Mughal

Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junejo

Chairman Procurement Committee
Superintending Engineer

NIT No: EE/DMC/S/205/2017 DATED: - 06-03-2017

Tender published: - SPPRA Website (www.pprasindh.gov.pk) SPPRA Sr. No. 31980

Work # 10

Method of Procurement: - Single Stage - One Envelope Procedure

Description of Work: - Repair Maintenance & improvement of streetlight system at UC-10 of DMC (South)

Name of Bidder: - M/s. Ovais & Bilal Enterprises. (1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. Ovais & Bilal Enterprises.	M/s. Ahme Services.	ed Electrical	M/s. Al Maqbool Associat.
1	Electric license for electric work	Available	Ava	ilable	Available
2	NTN Certificate	Available	Ava	ilable	Available
3	Pay Order of Bid Security	Available	Ava	ilable	Available
4	Profession Tax Certificate	Available	Ava	ilable	Available
5	Certificate Sindh Revenue Board	Available	Ava	ilable	Available
6	Minimum 03 Years Experience of relevant field	Available	Ava	ilable	Available
7	Turnover at last 03 Years	Available, above than Estimate coast		above than te coast	Available, above than Estimate coast
8	Rate Must be quoted in figure & words	Yes	Y	'es	Yes
9	Bid is signed, Named and stamp by the authorized person of the firm along with authorization letter	Yes	Y	'es	Yes
10	Bid Must Be Submitted in sealed cover	Yes	Y	'es	Yes
Qualifi	ed/Disqualified	Qualified	Qua	lified	Qualified

Mr. Shakee Wughal
Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junejo

Chairman Procurement Committee Superintending Engineer

NIT No: EE/DMC/S/205/2017 DATED: - 06-03-2017

Tender published: -

SPPRA Website (www.pprasindh.gov.pk) SPPRA Sr. No. 31980

Work # 11

Method of Procurement: - Single Stage - One Envelope Procedure

Description of Work: -

Repair Maintenance & improvement of streetlight system at UC-11 of DMC (South)

Name of Bidder: -

M/s. Huzaifa Enterprises. (1st Lowest)

Eligibility/Qualification Criteria: -

Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. Huzaifa Enterprises.	M/s. New Enterprise	Spectrum es.	M/s. Owais & Bilal.
1	Electric license for electric work	Available	Av	ailable	Available
2	NTN Certificate	Available	Av	ailable	Available
3	Pay Order of Bid Security	Available	Av	ailable	Available
4	Profession Tax Certificate	Available	Av	ailable	Available
5	Certificate Sindh Revenue Board	Available	Ava	ailable	Available
6	Minimum 03 Years Experience of relevant field	Available	Ava	ailable	Available
7	Turnover at last 03 Years	Available, above than Estimate coast		, above than ate coast	Available, above than Estimate coast
8	Rate Must be quoted in figure & words	Yes		Yes	Yes
9	Bid is signed, Named and stamp by the authorized person of the firm along with authorization letter	Yes		Yes	Yes
10	Bid Must Be Submitted in sealed cover	Yes		Yes	Yes
Qualifi	ed/Disqualified	Qualified	Qu	alified	Qualified

Mr. Shakeel Myghal

Member Procurement Committee

Executive Engineer

DMC (South)

Mr. Waseem-Ahmed

Member Procurement Committee

Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Razaq Junejo

Chairman Procurement Committee

Superintending Engineer

NIT No: EE/DMC/S/205/2017 DATED: - 06-03-2017

Tender published: - SPPRA Website (<u>www.pprasindh.gov.pk</u>) SPPRA Sr. No. 31980

Work # 12

Method of Procurement: - Single Stage - One Envelope Procedure

Description of Work: - Repair Maintenance & improvement of streetlight system at UC-12 of DMC (South)

Name of Bidder: - M/s. Ahmed Electrical Services. (1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. Ahmed Electrical Services.	M/s. S.M. Builders.	M/s. Al Maqbool Associate.
1	Electric license for electric work	Available	Available	Available
2	NTN Certificate	Available	Available	Available
3	Pay Order of Bid Security	Available	Available	Available
4	Profession Tax Certificate	Available	Available	Available
5	Certificate Sindh Revenue Board	Available	Available	Available
6	Minimum 03 Years Experience of relevant field	Available	Available	Available
7	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast
8	Rate Must be quoted in figure & words	Yes	Yes	Yes
9	Bid is signed, Named and stamp by the authorized person of the firm along with authorization letter	Yes	Yes	Yes
10	Bid Must Be Submitted in sealed cover	Yes	Yes	Yes
Qualifi	ed/Disqualified	Qualified	Qualified	Qualified

Mr. Shakeel Mughal

Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdu Razaq Jupe

NIT No: EE/DMC/S/205/2017 DATED: - 06-03-2017

Tender published: -

SPPRA Website (www.pprasindh.gov.pk) SPPRA Sr. No. 31980

Work # 13

Method of Procurement: - Single Stage - One Envelope Procedure

Description of Work: -

Repair Maintenance & improvement of streetlight system at UC-13 of DMC (South)

Name of Bidder: -

M/s. Waheed & Sons. (1st Lowest)

Eligibility/Qualification Criteria: -

Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. Waheed & Sons.	M/s. Huzai Enterprises	200	M/s. New Spectrum Enterprises.
1	Electric license for electric work	Available	Avai	ilable	Available
2	NTN Certificate	Available	Ava	lable	Available
3	Pay Order of Bid Security	Available	Ava	ilable	Available
4	Profession Tax Certificate	Available	Avai	ilable	Available
5	Certificate Sindh Revenue Board	Available	Avai	ilable	Available
6	Minimum 03 Years Experience of relevant field	Available	Avai	ilable	Available
7	Turnover at last 03 Years	Available, above than Estimate coast		above than te coast	Available, above than Estimate coast
8	Rate Must be quoted in figure & words	Yes	Y	es	Yes
9	Bid is signed, Named and stamp by the authorized person of the firm along with authorization letter	Yes	Y	es	Yes
10	Bid Must Be Submitted in sealed cover	Yes	Ye	es	Yes
Qualifi	ied/Disqualified	Qualified	Qual	lified	Qualified

Mr. Shakeel Mughal

Member Procurement Committee

Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Razaq Junejo

Chairman Procurement Committee

Superintending Engineer

NIT No: EE/DMC/S/205/2017 DATED: - 06-03-2017

Tender published: - SPPRA Website (www.pprasindh.gov pk) SPPRA Sr. No. 31980

Work # 14

Method of Procurement: - Single Stage - One Envelope Procedure

Description of Work: - Repair Maintenance & improvement of streetlight system at UC-14 of DMC (South)

Name of Bidder: - M/s. Ovais & Bilal Enterprises. (1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. Ovais & Bilal Enterprises.	M/s. Wahe	ed & Sons.	M/s. S.M. Builders.
1	Electric license for electric work	Available	Avai	lable	Available
2	NTN Certificate	Available	Avai	able	Available
3	Pay Order of Bid Security	Available	Avai	lable	Available
4	Profession Tax Certificate	Available	Avai	lable	Available
5	Certificate Sindh Revenue Board	Available	Avai	lable	Available
6	Minimum 03 Years Experience of relevant field	Available	Avai	lable	Available
7	Turnover at last 03 Years	Available, above than Estimate coast		above than e coast	Available, above than Estimate coast
8	Rate Must be quoted in figure & words	Yes	Y	es	Yes
9	Bid is signed, Named and stamp by the authorized person of the firm along with authorization letter	Yes	Ye	es	Yes
10	Bid Must Be Submitted in sealed cover	Yes	Ye	es	Yes
Qualif	ied/Disqualified	Qualified	Qual	ified	Qualified

Mr. Shakeel Mughal

Member Procurement Committee

Executive Engineer

DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer,

District Council, Karachi

Mr. Abdul Ravaq Junejo

Chairman Procurement Committee

Superintending Engineer

NIT No: EE/DMC/S/205/2017 DATED: - 06-03-2017

Tender published: -

SPPRA Website (www.pprasindh.gov.pk) SPPRA Sr. No. 31980

Work # 15

Method of Procurement: - Single Stage - One Envelope Procedure

Description of Work: -

Repair Maintenance & improvement of streetlight system at UC-15 of DMC (South)

Name of Bidder: -

M/s. Waheed Sons. (1st Lowest)

Eligibility/Qualification Criteria: -

Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. Waheed Sons.	M/s. Ahmed Services.	d Electrical	M/s. S.M. Builders.
1	Electric license for electric work	Available	Avai	lable	Available
2	NTN Certificate	Available	Avai	lable	Available
3	Pay Order of Bid Security	Available	Avai	lable	Available
4	Profession Tax Certificate	Available	Avail	lable	Available
5	Certificate Sindh Revenue Board	Available	Avail	able	Available
6	Minimum 03 Years Experience of relevant field	Available	Avail	able	Available
7	Turnover at last 03 Years	Available, above than Estimate coast	Available, a	above than e coast	Available, above than Estimate coast
8	Rate Must be quoted in figure & words	Yes	Ye	es	Yes
9	Bid is signed, Named and stamp by the authorized person of the firm along with authorization letter	Yes	Ye	es	Yes
10	Bid Must Be Submitted in sealed cover	Yes	Ye	es	Yes
Qualifi	ed/Disqualified	Qualified	Qual	ified	Qualified

Mr. Shakeel Mughal

Member Procurement Committee

Executive Engineer DMC (South)

Mr. Waseem Ahmed

Member Procurement Committee

Asstt: Executive Engineer, District Council, Karachi Mr. Abdul Razaq Junejo

Chairman Procurement Committee

Superintending Engineer DMC (South)

ATTENDENCE SHEET

NIT NO: SE/DMC/S/205/2017 DATED 06-03-2017

Bid Opening Date 27-03-2017

SPPRA SR. # 31980

Sr.#	NAME OF FIRM / CONTACTOR	SIGNATURE
1	M/s Ahmed Electrical Series	Almn.
2	m/e ovais + Bilal Gres pois	(2
3	m/o. Walred & Some.	A. myaca
4	m/s SM. Binders.	Ald will
6	M/s. Al Maghood A socies M/s New Spector Pris	
		1
14		

PROCUREMENT COMMITTEE DMC SOUTH.

Amy Anis

A